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Question Number : 1 Question Id : 7512365441 Question Type : MCQ Option Shu@ Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Herbariums are plant repositories ‘ﬁ are used as reference specimens.
Recently these are digitalized g gldbal use.

Reason (R):  Herbarium helps in the clafgifiCation of plants and gives complete
description about the taxo@ .

Tgwy (A):  TE0ahoes Ik e e, €2 sopsehes ShrTem sded:
2850 seos’ oMW SSosThEs 82088 Br.
s6mo (R): 800 a@ 56855 SBRPKBEE w0 000 SESHE6H TR

o

QOFgoT DJ0X08.

The correct answer 1s:
$OGS SSrESS0:
Options :
Both (A) and (R) are true. (R) 1s the correct explanation of (A).

(A). (R) Bodr 583052, (A)§ (R) $0508 JS8e.
i

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(A). (R) Bodr $6508. 59 (A) 8 (R)HOGHS dSde0 5760,
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(A) 1s true but (R) 1s false.
(A) 8853058, 579 (R) 805058 5°60.

o

(A) 1s false but (R) 1s true.
(A) S83038 5780, 5°0 (R) S853036.
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Question Number : 2 Question Id : 7512365442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify combination of incorrect statements related to cyanobacteria.
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Cyanobacteria are referred to as blue-green algae
They perform oxygenic photosynthesis in chloroplasts.

The red-colour of red-sea is due to the presence of a cyanobacterial species
Trichodesmium erythrium. Q

All the cyanobacterial species can fix atmosp@N , in specialised cells called

heterocysts. ‘»
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Question Number : 3 Question Id : 7512365443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1 List-1I
A) Identification of Auxins [)  Frankel Conrat
B) C,pathway I) Charles Darwin
C) Discovery of genetic nature of RNA III) J.B.Sumner
D) Theory of evolution IV) EW. Went
V) Hatch & Slack
§08 S8 285,808,
2838 -1 288 -1
A) s§ow Hodo I) q&‘.‘l’og@ 508
B) C,3rd50 00 TOR
C) RNA Gw¥), 23g@5)80 sSofrdob & JB. 3506
D) %8s dErodson Q, IV) FEW.308
O 5 & 28

N
The correct match 1s: Q/v.
HOSS 28 &
Options : &
A @ © (@D

; \Y A% I I

A @B © O

@ @ © @D
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Question Number : 4 Question Id : 7512365444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1

A) Siphonostele

B) Solenostele

C) Dictyostele

D) Protostele
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The correct match 1s:

000 &
Options :
A @ © @
. \Y I I I
A @ © O
\Y I I I

List-11
I)  Dissected siphonostele with overlapping
leaf gaps
II) Siphonostele with scattered leaf gaps
IM) Central core of xylem surrounded by phloem
IV) Medullated protostele
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Question Number : 5 Question Id : 7512365445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In pteridophytes. the gametophytes require cool. damp. shady places to
SIOW.

Reason (R):  Specific requirement and the need for water for fertilization. the spread
of living pteridophytes is limited and restricted to narrow geographical
regions.

O

Fgpg (A): B0E P oo SoBridzdo ”@@5\» $od, 8, e o
BIITIOYS ON.

w80 (R): (@838 58380, Hobsdno eS59g8derol o8 So 2DoDosN)
BoG PG TN ©d é%(z; 9% |Fosrod H0WSo 0.

The correct answer 1s: : v

500N BSFEHB0:

Options : @
Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A). (R) Sodr 3883052. (A) 8 (R) D050 D580,

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(A), (R) Bodr 38508, 50 (A)§ (R)D8508 D58 s°&.

(A) 1s true but (R) 1s false.
(A) 285058, 570 (R) 905058 s°ddo.
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(A) 1s false but (R) 1s true.
(A) 28530858 57, 50 (R) S853036.

Question Number : 6 Question Id : 7512365446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General function of the root system is absorption and conduction of water and minerals
besides anchoring. But in this case the roots are fibrous and become swollen due to storage
of food. Indicate the plant:

OHEEB 5°500F D DOEN PATe £l ID SgHY Do), FFde 8. S H &
36_‘.3 ST o‘ﬁgs’a‘geﬁ* Jod 8360 S Jroor GINSLLT JHolran. werold 3080

RPNOWOR !
D
Potato ‘»Q

| womdsos é}
Carrot é’
> g Q/v

Taeniophyllum &@

ﬁﬂcﬂrﬁgo

Options :

Asparagus

esd 5) oo V)

Question Number : 7 Question Id : 7512365447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists :

List-1 List-1I
A)  Musa. Cocos. Colocasia [) Corymb
B) Crotalaria. Mangifera II) Spikes
C) Cassia, Cauliflower M) Umbel
D) Achyranthes. Grasses IV) Spadix

V) Raceme

§od JHEsod =s8rB0l.

S8 -1 DEE -
A) Do, 580, Sesaalr ) $5039
B) (5&88aklr, Srozpor II) §c@»
C) sdale, 570556 1) ’} 0

]
D) JPocrod®, & Gerrdoen @W&Jé%

C’QX) ;Socr‘g@z%ﬂcs
The correct match 1s: $
OGS 248! @

Optons: %
o ® © O

A% \Y I I
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Question Number : 8 Question Id : 7512365448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the types of fruits presented in List-I with the name of the plants given in the List-II.
List-1 List-11

A)  Schizocarpic fruit I) Mustard
B) False fruit ) Acacia
C) Parthenocarpic fruit I) Strawberry
D) Dry fruit IV) Banana

V) Cotton

O

588-1° adys Dods s H8E-IS* oo mgF Q‘?’ﬁ:@* 28808108,

5658 -1 5656 -1
A) ‘*‘ﬁé‘m%g SODD é} eI 0
B) e deodw O n et
C) eodasdod Jodwn @ I &3
D) % Soso Q,v. V) 6
& V) 58

A

The correct match 1s:

H8G08 F°B0Y:

Options :

A @B © (@D
., N VvV m 1

A @B (© (D)
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Question Number : 9 Question Id : 7512365449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following is called as “Terror of Bengal'.

& 808 TS .88 ‘BorS HE o BH&ob.

Options :
Brvophyllum
(AP0

1 3 L

Ginger Q\q
‘v

BOO

&
Water hyacinth é}

KISDBE,

Rhizopus
&2

5750

sk

Question Number : 10 Question Id : 7512365450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Xenogamy involves transfer of pollen grains from the flower of one plant
to the stigma of another plant.

Reason (R) :  This is the only type of pollination which brings genetically different types
of pollen grains to the stigma.

g (A): DI HEITHTH 0D 08" 2.8 008 NS &) PTNOS'Q BTG en
308 3w ad) JqQberio R 288 eHheron.

80 (R): & o) DT KD0DG) 0 EED edoghdonr JAEEsw Kot ol Sor TS
REIF000.

The correct answer is:
z&ag_a:a’: AT |

Options :
Both (A) and (R) are true. (R) 1s the correct exp on of (A).
(A), (R) Bod> %0553, (A)8 (R) %6553 Lpw.
i q
Both (A) and (R) are true. but (R) 1s e correct explanation of (A).
(A). (R) 3o 383082, 2 ( )(8B0S D58 570,
2. G : [ < W
(A) is true but (R) is false. @
(A) 285038, 5720 (R) é&%é& 5° 0.

[ —

(A) 1s false but (R) 1s true.
(A) 588088 58, 52 (R) $85088.

Question Number : 11 Question Id : 7512365451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sequence of stages during embryogenesis of a dicotyledonous embryo.

Be&¢ e Lodod” 28R LOFRNH o IES (oo

Options :
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Proembryo — Globular embryo — Mature embryo — Heart shaped embryo

RE0 Dodo — Fesd Dodo — B8 Dodo — Tryiairs s Dodo

Heart shaped embryo — Proembryo — Globular embryo — Mature embryo
THEAETEE 2080 — PEDN wodo — AeEd wodo — B8 Dodo

Mature embryo — Proembryo — Globular embryo — Heart shaped embryo

P8¢ Wodo — RBD Voo — Wesd Vodo — TryKairsd wodo

Proembryo — Globular embryo — Heart shaped embryo — Mature embryo
@& wodo — Fesd Dodo — TrRasrsd 3}065@—) D80 w00

4, Q\

Question Number : 12 Question Id : 7512365452 Question Type : MC ption Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical :
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Which of the following are the characteristic features of the family Fabaceae?
Gamosepalous nature

Stamens five. epipetalous

Marginal placentation

Petals five. polypetalous

Fruit 1s a berry

<ZgE"

FED Sotwowo 0¥, « Jopg ofTren §od TS HIaw?
L SoodnE U85 Jgrs@

I 3doen 5 Dofbde” D08

. &JFod wodargdo

IV. 88 J@ en 5, ©3005080

V. Soysoseo ‘»Q,\Q

The correct answer 1s:

&
SloTen VENERSIN AN o) é’
Options : @v

LILTLV

1
&
ILIOLIV.V &
2,
LILIOLIV
3.
LIOLIV
4,

Question Number : 13 Question Id : 7512365453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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One of the families 1s characterized by the following floral formula:
& §o8 DAWosso o8 Sotoerds wfmor EADK0B.

BL.Ebrl, ©.9 . Puus) . Agss G,

Identify the family:
& Sodwoerd) Mgolod:

Options :
Solanaceae
oI

Liliaceae
OOTH

Fabaceae

FBD Q/v.

Leguminosae

P 64"0‘53)355?@

Question Number : 14 Question Id : 7512365454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following characters are found in ribosome?
They are composed of RNA and proteins and are not surrounded by any membrane.
The membrane transports a number of ions.

They are membrane bound vesicular structures and rich in hydrolytic enzymes.
They help in the synthesis of proteins.

=8 =0 o B

TS0 & 18od 2 ofrody A HImyan?

L 2 Eeﬁ‘éo@ﬁ?@u (RNA), @f&@? QO Tns FES wIbodnd Jod.
[ &8 938 volrsod o B308.
1L

ad FES* ©5BoDYHY) S JTyren B0 IEYS TEBEE TS0
9 Hodd.

V. 20 @88 ﬁuﬁ&m 2BONT I8 GO HI &S o0. Q

The correct combination 1s: ‘»Q
3655 Eoons: A

Options : o@

[ 558050 IV
1 Q/v.
LIL M andIV ;@
LIL I %5080 IV
2.
MandIII
58050 1T
3.
HandIV
NS08 IV
4.

Question Number : 15 Question Id : 7512365455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Asserfion (A) : Starch can hold 1odine molecules whereas cellulose cannot hold 10dine
molecules.

Reason (R):  Cellulose forms helical secondary structures whereas starch does not
contain complex helices.

Ty (A): 2od ST T ORTrEY o JewHFred. oS Een Sr@o
OBrES @enHodd D8 ouBY.

gm0 (R):  Dengd'® od8en 80/ BI8G5H JT7 ik J6)E08. 59 DodBT o
SriBo Ho8h BOEoD ED HokD.

The correct answer 1s:
;:':,agpss AT

Options : Q

Both (A) and (R) are true. (R) 1s the correct ez@a on of (A).

(A). (R) Sodr $653052. (A)8 (R) Sog £.
ik @
Both (A) and (R) are true. but (R) 1 ¢ correct explanation of (A).

(A). (R) Bodkr HBGED. 5 &/ R)%0508 258 6.

&

(A) 1s true but (R) 1s false.
(A) 585056, 570 (R) $830858 528

(A) 1s false but (R) 1s true.
(A) 583058 528, 72 (R) 988056

Question Number : 16 Question Id : 7512365456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Incrossing over. the exchange of genetic material between two homologous
chromosomes occur during both mitotic and meiotic cell divisions.

Reason (R):  The process of crossing over 1s only possible and i1s mediated by
recombinase.

g (A): ANB00H0S* JJo2d 00050 EohEln =S TodBS® ddododh
Eardrdve gy 2dogdad Srdyd 28ihEed.

5820 (R): 0570838 Ho Sr@d IVSoohidy 28Hisy FEgiohsod.

The correct answer 1s:
P0G0N JArTdw:

Options :
Both (A) and (R) are true. (R) 1s the correct explml& of (A).
(A). (R) Sodr 585052, (A) 8 (R) 6508 a@
. A
Both (A) and (R) are true. but (R) 1s 1 correct explanation of (A).
(A), (R) Bodr S05082. 579 ( )RBSE D3des 5.

2. Q/
(A) 1s true but (R) 15 fals&e

(A) 568058, 5 (R) D088 560,

(A) 1s false but (R) 1s true.
(A) 385038 57, 522 (R) S85036.

Question Number : 17 Question Id : 7512365457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : The peripheral region of the secondary xylem is lighter in colour and is
known as the sapwood (alburnum).

Reason (R):  Itisinvolved in the conduction of water and minerals from root to leaf.

s (A): S8 TP woid B8 Sgos' Holwoh. &) SITHY (s b))
PO,

580 (R): 28 3% Sood Hgeds 208 A, ple (Bd8S” FST0tnob.

The correct answer 1s:
é&@oé D ATTOAN

Options :

Both (A) and (R) are true. (R) 1s the correct explanatqof (A).
(A) S08050 (R) en Bodr 003D, (R) @38 ( %: DOBS Ddde.

1 &‘»

Both (A) and (R) are true. but (R) 1s no orrect explanation of (A).
(A) 508650 (R) &0 Bods &5033?53@ (R) 638 (A)So %858 I56m S

(A) 1s true but (R) 1s false. Q’

(A) P0G, 570 (R)X a&é& 5°&0.

(A) 1s false but (R) 1s true.
(A) S8GS58 57, 570 (R) S8Tosa.

Question Number : 18 Question Id : 7512365458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following are the part of the Periderm?
Duramen
Phellogen

Phellem
Phelloderm

Albumum

<EEHEr"

& 1808 TS AD 38156@106‘ o™ odrron?
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(S
O
(S

,I{:q
&
&5

< B
e ¢
o

<
=
<0
29

The correct answer 1s:

&
RS SdrTio: é’

Options :

IL IV and V Q,v'
IIL IV 5085 V «0_)

[ILIMand IV
II. IIT 508050 IV

NOLIVandV
ILIOL IV %8050 V

LII.ITandV
LI IS8 V

1 E
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Question Number : 19 Question Id : 7512365459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1 List - 11
A) Rooted hydrophyte with floating leaves I) Limnophila
B) Submerged suspended hydrophyte ) Vallisneria
C) Free floating hydrophyte ) Utricularia
D) Amphibious plant IV) Victoria regia
V) Salvinia
& (808 DGFodD 2SJTLWD00.
o838 -1 2838 - 11
A) oh)fdmo Tob, 8D BT Jgrew Ko I8, Q D O3rper
B) Irom 86* 506, oldvoddomr &od f{)é@ ) 9536k
C) & ’i:agzﬁtnn'“ 88 830, & M) aEss§adsair
D) &Fohdd I en Q/ IV) 28§6alr Szale
o V) &dpdalr

The correct match 1s: Q/

é&@aa’) 2385 ‘

Options :
A @ © O
W ' X
@“@ @ © @D

s B ¥ 1 X

@ @ © @D

g AN I I I

A @ © D)
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Question Number : 20 Question Id : 7512365460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are the measures that should be taken to protect pollinators?
Reducing the level of pesticides used in and around your home.
Encourage building butterfly gardens. and bee boards.

Discourage the creation of own pollinator-friendly garden.
Not to support agriculture enterprises that avoid pesticide use.

<BR"

& 1§08 TRS* A ST HD0DY), ITT 0D SE0NER ATrdsnen?

L =, Sodoo sz %08 StrEadE SoTe Tdiodn dhowdo

I Qefs dendo Shod, 838K Dodslned @&yrosto

Il Jo°id0dg), STerdhe JSPoo IJ) o & DORNER) A ENTHEWEO
IV.

SLETHE STTodH IVBrHoBI 5553#@@&53 DODEBEPSE0

The correct combination is: q&:

56@0;‘5 oS!

Options : é
I and ITI Q/V'

I IT S08c3a0 I

1_ &
IIandIV

II T S5o8080 IV

TandII
[ 508050 11

MandIV
I 5800 IV
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Question Number : 21 Question Id : 7512365461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In "Pressure Flow" hypothesis. sugars are transported from 'source’ to 'sink’. The initial
steps which occur during this physiological process are shown here.

In leaves glucose 1s converted to sucrose.

Sucrose moves from sieve tube cells to companion cells by active transport.
Loading of sucrose produces a hypotonic condition in the phloem.

Water in the adjacent xylem moves into phloem by osmosis.

8 B

B8 PITTEn B8NS cholh BE) Gen wéE oo Sr0d IITTHBOE IS DSTrorherow.
& LT Y PIEoDNS" |Fdod voBew & (§od Wrdwdd JPormr eolrow.

L S Ar6'S SIEST SrdnSoss08.
55 Largd oo (Todiares) Hob Shirek S8 BTEo T HEE Soo
Il DESE B30 Jod FiE Smeord voyTES 8 KWS08.

V. 8580 S0l mdsmerewo ood @‘&éé@@&@ A J&o.

&‘\r

Identify the above correct statements:
28 B8 78S SESoor HF J‘gmg@&gpdo&:
Options :
Tand IIT @i
[3508050 I
[Mand ITI

MS08 050 I
g

[andIV

. [S508050 IV

MandIV
IS50805w IV

Question Number : 22 Question Id : 7512365462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
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Assertion (A) : Free-living bacteria such as Rhizobium and Frankia can help in biological
fixation of dinitrogen in the roots of angiospermic plants.

Reason (R):  Prokaryotes exclusively contain nitrogenase enzyme which can catalyze
the oxidation reaction of dinitrogen to glutamate.

gy (A): sS)8de I o IS', FFDabo HdM® (FFrofalr &F '?oagﬁ:)m‘;ié
rE0oirey B-JWaS LIJBa FHIL dFFoho Byow.

s80 (R):  Bods Jrd 2HS'A JT'RIE ISFS0 3 JW 2080 Krirodm &8 Eden
S8y T @@y Tod.

The correct answer 1s:
OGS JSBrerddn:

Options :

Both (A) and (R) are true. (R) 1s the correct explalm% of (A).
(A) $:8050 (R) &0 Bodsr 505, (R) @35@; 5808 D586,

1 &
Both (A) and (R) are true. but (R) 1s n(%correct explanation of (A).
(A) 508050 (R) &0 Bods é&@éé@ (R) @36 (A)S0 306508 J58e 560

(A) 1s true but (R) 1s false. Q’

(A) $85058, 59 (R) 5@:&& 5.

2.

3

(A) 1s false but (R) 1s true.

(A) 5853038 57, 570 (R) S853036.
4,

Question Number : 23 Question Id : 7512365463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The graph below depicts velocity of an enzyme catalysed reaction vs. substrate concentration.
Identify the alphabets with correct description.

808 (TS Sodh &@)08ToS Wy Boof), SRS SgE080m EPITYo MESDH Jordd0s.
56008 SG5E r8S viToH KHEoSes.

L  A=Enzyme activity \Q
A= doBo airiod q,Q

II. B=Substrate concentration at maximuim vel&y
B =K0gdK0 8¢ ©&d Smgo més Q,

the maximum velocity

M. A =Substrate concentration at whic
A = B0 HogdKo 58 egd s

IV. B =Half of the maximum %
B= ﬁaaﬁﬁou <Yafe

The correct combination is:
OS24

Options :

I I

LIV

II. III

oI IV

1 E
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Question Number : 24 Question Id : 7512365464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In PS L. the reaction centre, chlorophyll 'a' has an absorption peak at

700 nm. hence 1s called P700. while i PS II. it has absorption maxima at
680 nm and 1s called P680.

Reason (R):  Calvinpathways occur in all photosynthetic plants. it does not matter where
they have C, or C, pathways and the Calvin cycle described in three stages:
Carboxylation. reduction and regeneration.

Tgpg (A): 508 .;")533%-1 S* JEH080-3 § 700 nm SHS §TAe 3pdo PHolwob.
g8 &I P700 @9, o3 5708 Sg50-11 &° 680 nm &6 K85 T
Jotnod. 5708 &IV P68  Henar.

80 (R): Q) 88paldy SodBrHBok 28 HB0I 308, S xR Sorgo EA 8.
08 &' C; 8 C, om0 I8 azdaﬁoz‘@@?ﬁ& QA0 570, Sy
597 395 Soakrd) Sgomdd: ToIQYAS, admo, PSS

The correct answer 1s: q&:

HBSS SSrFEBW: o

Options : V§

Both (A) and (R) are true. ( gﬂe correct explanation of (A).

(A) 08asw (R) ew Bo

59. (R) &3 (A)S $6HS 56w,

o
Ko

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(A) 558050 (R) o0 Bod> 380859, 59 (R) 638 (A)SH S80S D580 5.

(A) 1s true but (R) 1s false.
(A) 268058, 579 (R) 268058 5.
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(A) 1s false but (R) 1s true.

(A) 565088 5%, 5 (R) H85056.
4.

Question Number : 25 Question Id : 7512365465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are required for chemiosmosis?
A membrane
A neutron pump

An electron gradient
ATlPase

<BERF"

& 1808 TAS® QD BBIPRIVK THOVID?

L &8 (Sc8d0) \q
I &ogers S0 ‘»Q
I Jdogs @oed %&

V. ATPOE é}

The correct answer 1s: Q,i
S6GHS BEPGHO: ‘@

Options :

I&II

O&III
2

[& IO

[&IV

Question Number : 26 Question Id : 7512365466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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° - India’s largest Student Review Platform

—



Arrange the following in the order of their occurrence in the glycolytic pathway.

L  Triose bisphosphate ' S Triose phosphate

II. Fructose-6-phosphate S Fructose 1. 6-bisphosphate
[II. Phosphoenolpyruvate | 5 Pyruvic acid

IV.  2-Phosphoglycerate S Phosphoenolpyruvate

V. Glucose-6-phosphate | S Fructose-6-phosphate

VL Triose phosphate ' - 2-Phosphoglycerate

Bod 2O TES®, Bl Srdos® IT) T HDIE0S® wddiod.

I  (BrE D80 ; GEPE Iy

I ©§&-6-> 0y | S BEE 1. 6-D957)0
Il IFRouTs a8 ' 5 193‘5%5 es500

IV. 2-28%3388 : S JoRTE PHIE
V. #8'&- 6-@“’?&3&3 | >&%é‘:§- 6-&*@3&0

VI (@&rd oy ' 0@ 2-FAJBE

The correct sequence 1s: @

5008 HEBER0: Q,v.
Options : &@

T P A

Ik, L IV, 'V, 1IL, VI

N, B 3V 1 VI b

NI L NVE RN, ]

Question Number : 27 Question Id : 7512365467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e collegedunia:
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Identify the reactions where energy 1s produced:

I  Malic acid + NAD" __ Malate dehydrogenase s oxaloacetic acid + NADH

Citric acid —=222%¢_ cjs-aconitic acid + H,O

IL
I Succinic acid + FAD —Succinic dehydrogenase , £yimaric acid + FADH,
IV.

- o Succimic 8. ~
Succinyl CoA+ADP+ Pi o Succinic acid + ATP+ CoA.

- .. Oxalosuccinic & : :
Oxalosuccinic acid —5 Z7oro— a-Ketoglutaric acid + CO,

-

Bod &S SEgST ¥8 ¢&§ Toora) Hfodkod.
L 5006 esfyo + NAD' 3588 83@eds | ot 2655 esioo + NADH

P38 edo WITS 5 25-05°038 &0 +@

IL
ML %898 esio + FAD —SR2864deds , ﬁ&g s3%0 + FADH,
IV.

$8)0S §'-JoBZow + ADP +Pi 28)05 w0 +ATP + CoA.

3

£

V. o5& $§JF esdo ”536‘;1& 0-8¢5° ¢85 esdoo + CO,
™ ﬁ-E‘O‘D ™ ™

The correct combination 1s: @

Q000N =g «

Options :

LIOIVandV
LILIV&8din V

LIOLIVandV

IT. 1. IV 558080 V
2.

LIOIandIV

L I S08c50 IV
3.

1 E
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MIandIV
II. HI 508050 IV

Question Number : 28 Question Id : 7512365468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :  The foolish seedling disease in rice seedlings 1s caused by a fungal pathogen.
Gibberella fuzikuroi.
Reason (R): E. Kurosawa reported the appearance of symptoms of the disease in

uninfected rice seedlings when they were treated with sterile filtrates of
the fungus and the active principle was identified as Gibberellic Acid.

Ty (A): SO I8 ©S* LB HIRED I 300E wdo 28I 3736 (foolish
seedling disease) Eeoriddnod.
580 (R): QEDTT THRGE ST JoeFES 6@60‘&}3&% 2O0EY OIS &’
©DUIF 20VIYE TES® T7gH o 22BJI"0W. & |Bodrdw STTR)
220008 esdoorr Moo,
i A

The correct answer is: C’Q,
HOR0S SBErGrES0: @

Options :

Both (A) and (R) are true. ( e correct explanation of (A).
(A). (R) Bodor 8505 ) § (R) 505308 Ddden.

Both (A) and (R) are true. but (R) is not the correct explanation of (A).
(A), (R) Bodr 5005, 2 (A)§ (R)D0G0S IS8 5.

(A) 1s true but (R) 1s false.
(A) 283058, 570 (R) 285038 5.

(A) 1s false but (R) 1s true.
(A) D838 57, 570 (R) S853036.
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Question Number : 29 Question Id : 7512365469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1

A) Photoautotroph

B) Chemoautotroph

C) Photoheterotroph

D) Chemoheterotroph

§od JBson =88rGod.

-8

&8 -1

A

A) 508 IoDOTFRS0
B) &odhd SgobodFasre
C) 508 J8n8 0

D) 6ok SEFas e

The correct match 1s:

DO 28! @v
Giotiimn
@ ® © AP

\Y I I I

1
@ ® © @D
. B ¥ W I
@ @® (© @O
I I vV IO
3.
@ ® © @O
, VI I I

List-11
Nitrosomonas

Rhodospirillum
Salmonella

Chlorobium

SB8=
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Question Number : 30 Question Id : 7512365470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements related to viruses are icorrect?

L  Antibiotics can kill viruses

II. Viruses are mactive outside the cell

. Genes involved in viral metabolism are located in the viral genome

IV.  Phages can multiply by two alternative mechanism. the Iytic and the lysogenic cycle

IERH BowoGod Bod TgPgen 2D SHYT (@TAL2ES.

L Jrggdordsen 3630 Sostow.

. 8020 Jedo IV Ql?%oﬁreﬁ&éum Jodr .

Il 36S LS§ohess sodEd adgHen E0s® IR0 Bohad Holrow.

V. 28md 88 H588 5T) 88§ Hdcsn BSFAIS Sodr ITTO JFo T
TR0 950 Toderow. \q

The incorrect combination is: ‘»Q

S39mEas) Soaos: é/&
Options :
- &M

&
2 &

II. III

. IV

Question Number : 31 Question Id : 7512365471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In a cross between true-breeding (homozygous) red-flowered and true-breeding
(homozygous) white flowered plants. the F, progeny was pink. The phenotypic and genotypic
ratios in F, progency were 1:2:1. This is because of:

AEQY Ty Ko I D (SSocdhoryzo) Beoodh Yoo Ko ), (SJocioryezo)
D0oE0ECw0 IO PudI0S™A F, 860 Ing oo Heorddord Yinyoldanon. F, o’
Dé’g&éﬁ &ydg Sodosn 2sogdrd %G 1:2:1 &8 580!

Options :
Dominance
2 é’mgg & éﬁgo
Co-dominance
2.

SE-0TES S0 Q’@

Incomplete dominance

&
@.éoz’gy‘g QTGS E00 é’

Hybridization Q/v.
S08088d0 «@

Question Number : 32 Question Id : 7512365472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists:

List-1 List-1I

A) Back cross I)  TItis the genetic make up of an individual.

B) Test cross ) Anindividual is having two different alleles for a single
character. Consequently it will produce two different types
of gametes with reference to a gene.

C) Heterozygote IT) An individual 1s having two similar or identical alleles
for a single character. Hence. it will produce only one
kind of gametes with reference to a gene.

D) Homozygote IV) Ifthe F, progeny are mated back to one of their parents.

V)  The cross between F, progeny (or heterozygotes) and
their recessive homozygous parent.

Bod J8odh 288r80d:

o838 -1 S88 -1
A) DB¥) So88edn ) 28 228 TodS aséogﬂgc@cswa‘mﬁo 80 ®odo
B) 365 HoéSason I o8 225° 2.8 ugaa»aQ,maoa Bodd Fgh oKy

JECTYO €5 T)0w. &lﬂ" 205 Voodon) Told

5570 & SSg 28
C) ddaSocoiyz=o M) =8 £3e° Q8 DJoofod B TEIS olor)
Doy . Bo¥ & 2808980 Dowofod) wBEEIS

8§ 2ro.
BoBS D08 g, & 2 BIBS' AIS'ITTI

o B

v&oéaa B¢ DuSocinrEys) dSakory, cosys
RES* P& 23808 20 Jogwo.

D) SBoasnr)z0 V) &

The correct match is:
é&@é 23¢8

Options :

(A) (B) (C) (D)

N ¥ I B

(A) (B) (C) (D)
\Y% I I I

1 E
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(A) (B) (C) (D)
\% \Y I I

(A) (B) (C) (D)
\Y \Y% I I

Question Number : 33 Question Id : 7512365473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bacterial strain S was heat killed. Another strain R (living) was taken and mixed with

this S strain. This mixture of S+R strains were injected into mice. Which of the following
are observed by Griffith?

L The cells of S strain were dead in dead mice
II.  The bacterial cells without polysaccharide coat are transformed into virulent strain in

the injected mice Q
. Gnffith could not find living S strain in the bod ad mice
IV.  Gniffith could find living S strain in the body d mice
Se0d2dob. & STR Bons dFhrQ), OF § (OSFL808. |P0E & Bod H3udo

FIQ KoBowrdn?
I $3dowd DFewss’ s-@m((wm SHE SO

I DoFEr) DTS Dg& Y rOTeol &EibB wrsboh S Serren 8 Handenm
58585 Bogro.

I S3&Fond DPoosd’ HVS 288YF) S oy ELTIBE
V. S0&ond DB0sd] H0d @88JN) S-PHonas Sdofrand.

The correct combination 1s:
é&@aé Soons:

Options :

LII

IoOLIV
2.
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LIOLIV

1A%

Question Number : 34 Question Id : 7512365474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Between DNA and RNA. DNA is a better genetic material.

Reason (R):  2'-OH group present in every nucleotide in RNA i1s a reactive group and
make RNA labile and easily degradable.

g (A): DNA. RNA ©&* DNA D88 a28og S go
s6mo (R): RNAS®D 98 0.8, Srg8BrBES* 9% 2-OHS50mahsn o8 Basriof
DT oD B0 & BYTEorT HABOWOD 5:5@&@:@@0&, So8 k0 g

E)SQCSES Booeduod. ‘»Q
A

The correct answer 1s: Q,

2O SEPTHS: O
Both (A) and (R) are true. (R) %3 correct explanation of (A).
(A). (R) Bod&o é&@oéa&@ (R) 506808 D80,

i

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(A), (R) Bodr 385082, 0 (A)§ (R)DO5D1S D580 5°&0.

(A) 1s true but (R) 1s false.
(A) 5853058, 59 (R) $85038 5°&.
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(A) 1s false but (R) 1s true.
(A) D838 5, 570 (R) S8Boda.

Question Number : 35 Question Id : 7512365475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

These triplets among 64 codons do not possess any understanding to continue the process
by association with their anticodons.

64 Slos’ Y& & (88 Jodew, voliFTed T oows Wy FIFNowIs
@ZoBIEHrIE IABrADED.

Options : q

1 UUU.UAA.UAC Q
,\‘\r

UAA.UGA.UCG Q,

.48

&

UAA. UAG UGG

3 Q/v
UAA.UGA.UAG

4, K2

Question Number : 36 Question Id : 7512365476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

H. Boyer & S. Cohen are famous for their research work on

H. &5°0%8 $5080%0 S. 853w 78 J88°8d0¢8® 2 Sokods* 0@ oe?

Options :

Structure of double-standed DNA

Jot e DNA T2 0
:
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Construction of the first artificial DNA molecule

o4 3nEe 8385 DNA e Sosrb
2

Discovery of restriction enzymes
BIRES ASBDOD EHTHob

Invention of Polymerase Chain Reaction
>OIBS BS 00irES EDL GO

Question Number : 37 Question Id : 7512365477 Question Type : MCQ Option Shuf®ing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a restriction enzyme digestion experiment. a D gment of 1 kilobases length 1s
used. This fragment harbors three 5'-GAATTC-3' iction sites. After the restriction
digestion of tlus fragment with EcoRI. 3 DNA fi ts corresponding to 500. 300 & 100 base
pairs are observed in the agarose gel electr s1s (AGE). Predict the positions of the
restriction site (GAATTC) in the 1mdige5f§ -fragment which will result in the observed

bands m AGE.

& poddosS® St 5'-G '
355 Sos 500 §°6 a8, 300 £6 28 Sdcko 100 £8 2ol 063 Swrds DNA
podTodn ofsE BS ngﬁﬁﬁﬁai (AGE) &% d%0Q0wd. £gos°d 1 kb podgod
AGE & 5630008 2308 JpEs do (GAATTCO) Ko FTod wrowed.

oS FT0 HTow. EcoRI & a:oé@*éb 280

O~ JoBo EYEID @oﬁ‘wﬁg%ilé 8588 o w8 DNA podeR) Tado.

Options :

100. 300 and 500 base pairs
100, 300 So8csn 500 58 2den

100. 200 and 500 base pairs

100, 200 S08c8 500 578 e
2
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200 and 500 base pairs

200. 500 578 z28en
3.

100. 300 and 800 base pairs
100, 300 H5o008% 800 58 2:exn

Question Number : 38 Question Id : 7512365478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt toxin exists as mactive prototoxin but once an insect igests the imactive
toxin. it 1s converted into an active form of toxin.

Reason (R):  Protoxin gets activated in insect gut due to the acidic pH in the gut, which
solubilises the protein crystals. Q

g (A): Btirso Q3,58 @i S@)O@. 5°Q .58 §L¥o e, &) 8
r§iodo €fo TE08 ©b BojpsFiriiom Srdéod.

s6mo (R):  bko ofird DEAES* @gﬁm. oHTrEs'd usy pH S0
DS S)ETsTol §0h0 g@é&éuﬁ" JrEN08.

The correct answer 1s: c v '

DO SSrEES0:
Options : @
Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A), (R) Bodr 5653052, (A) 8 (R) $0308 ddden.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
(A). (R) Bodr $0a0852. 5 (A) 8§ (R)205308 580 570

(A) 1s true but (R) 1s false.

(A) 585058, 59 (R) 585038 5°¢%.
B
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(A) 1s false but (R) 1s true.
(A) 5853038 578, 570 (R) S833036.

4,

Question Number : 39 Question Id : 7512365479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
Crop bred by hybridization
A) Wheat

B) Brassica
C) Cauliflower

D) Cowpea

o JHEE 2838\ 0b.

5638 -1
Q0880 TT® W (D2BIN0
A) AN
B) (@ros
O) 58336
D) &8

The correct match 1s:

P0G0N =&
Options :
A @ (©
I\Y I \%
1.
A @ (©
B i1 I\ I

A

(D)

(D)

& & BB~

W
o

List-11
Resistance to disease

White rust

Bacterial bli
Sy

“ g‘b

% N ATEES

Block rot and curl blight black rot
Mosaic virus. leaf curl
Leaf and stripe rust. hill bunt

D@E@%. Dotos BE Susoey

IV) 808 Sodod difoen
V) a?gf}cﬁo@ 38

Swzrons I6R, esBodndod

QS 00N T Lo Bloew, Trdodd
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A @ © @D
\Y I \Y I

A @ © (@D

Question Number : 40 Question Id : 7512365480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The agent used to control insect populations:

8008 Dopgdo AoDoBohirss wHBrHod sTEEHw:

Options :

O
Bacillus subtilis ‘»Q\

&
Nucleopolyhedrovirus é}

g BT (S BOD

Azospirillum &@

o) 25 kﬁa)avﬁgo

3.
Azotobacter
@25 ES a0
4, e
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform
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Identify the correct sequence of hierarchy in the classification
Phylum

Fanuly

Order

Class

Species

Genus

MMy 0w

3088 |PTSgESes’ SBS SRy Mofowod.

A 3o

B. &éoozo

C. E5%0 ,9
D. dgrifo Q

E =8 ‘»

Options :

&
A—-B—->D—->C—SE->F @

A- B‘-—)D‘-—-}C-—-)F——)K6

3
A-D-C—-B-o>F-E
3.
A—-3DSCaB>E—F
4.

Question Number : 42 Question Id : 7512365482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements with reference to greater biodiversity in the tropics.
The duration of time available for species diversification is limited.
Solar energy and water resources are available i abundance.

Tropical climates are not constant and cannot be predictable.
Tropical latitudes have remained relatively undisturbed for millions of years.

e R4

G0l ©fE LIIITEIE Sowofod JBS Tpgod HoTod.

A 2o 350 58 0B TroNgId S8EH
B. 2d38, 8 S85He ogfgs olddo
C. oadode Tehdn Do wdor God, WOPIT IO Ao oo
D. &3idode sgorw Ffom NHOSY §§ Soddoren Jom voudiosd
K050l Godlo
Options : \Q

A&B &‘]9

_ B&D &
~

3' B&C Q,v

C&D «0_)

4.

Question Number : 43 Question Id : 7512365483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statement with reference to ‘Enterocoelomates’.

Body cavity 1s formed from endodermal pouches
They display determinate type of cleavage

Enterocoelomates are deuterostomes
Hemichordates are enterocoelomates

O N W

‘Gog 0 HT LPhot Sowofod JHOFI Tgwgess KBoEod.

A #58 Srdo wodSsS Freo $o0d DGykodiod
B. 20 0008 I8¢ (©88)Tza0

C. oo $68 $5¢ £Hheo B8 Swpgrdoen
D. ru5Bir £heo sog 88 Huroren

<
— N
P

A&B

A
7
B&C é’

o 2

Question Number : 44 Question Id : 7512365484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Match the following.

SET-1 SET-1I
A) Ospenis I) Sesamoid bone
B) Gudle I) Visceral bone
C) Patella Ill) Cartilage bone
D) Cranmum IV) Investing bone
808 TE 2EBHKHHIB®.

o838 -1 288 -11

A) D DI V230N E A58

B) 3o

08T 0N D08

C) 3rs® 2 SopNDY IS0k

D)
1)
1)
D) &Jeo N)&cﬁ D0 E
A

The correct match 1s

20G0% &80 é’

Options : v
A B ¢ &
. 4 I N @

A B € D
s W X I

A B € D
. I 1 W W

A B C D

I Y
4.

Question Number : 45 Question Id : 7512365485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : Planaria possess high degree of regeneration capacity.
Reason (R):  Planaria exhibits ‘polyembryony’.

Fgog (S): RI00IrSt PHSLSE ©QETaNS" Gotnod.

sdwmo (R): 230cir ‘2advdodertdy ©H88)8308.

The correct answer 1s
STSTes SR SRS IR AT
Options :
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodr 3080852, (R) (S)8 10508 D8 2:8308.
1 ,@
Both (S) and (R) are correct but (R) 1s not the (@ct explanation to (S).
(S). (R) Bods $06530:8. (R) (S)s m%&sm RG0S,

z- &
(S) 1s correct but (R) 1s not cog

(S) 83038, 570 (R) 88 &.
) SO s &%

(S) 1s not correct but (R) 1s correct.
(S) 65038 5780, 570 (R) S85058.

Question Number : 46 Question Id : 7512365486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The spermatheca. which receive and store spermatozoa in pheretima are present in

POLIrS’ HEsroD Hrod, B DEErsencd podaren.

Options :
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17t 18t & 19t segments
17, 18 & 1985 poberen

6t 7t gth & 9th seoments
6. 7.8 & 95 polkaren

11t & 12t segments
’ 11 & 1285 poderen

101 & 11™ segments

10 & 115 poderes O
Question Number : 47 Question Id : 7512365487 Question Type : tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Chordates have a tail extgudinz posterior to the anus. It contains skeletal
elements and muscles ks coelome and viseral organs.

Reason (R): Inaquatic organis%&{s as a balancing organ.

g (S): &éé&?@é‘@ TSNP Do’ PEACTDE G otnod. RO
wdond o HTgo, SodTo $0h wod, 08 5580, wosdol
elohHaren DHoT Golnod.

60 (R): 2088 2hos’ 2b dddhoge edohlom ST808.

The correct answer 18
BSOS BBCFHIW0

Options :

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodr 385052, (R) (S)80 008 D580 23308,
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Both (S) and (R) are correct.
(S). (R) Sodor S0503.

(S) 1s correct but (R) 1s mncorrect.
(S) 586088, 570 (R) $6803586 s7&.
=

(S) 1s not correct but (R) 1s correct.
(S) BBGDI& 5780, 57 (R) S0DS&.

Question Number : 48 Question Id : 7512365488 Question Type : MCQ Option Shl@ : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of the key adaptations helped evolutionary
Warm-bloodedness

Internal fertilisation

Amniotic & Cleidoic eggs é’

O N w e

N
s&@s of Reptiles on land?

Pulmonary respiration and dry scaly sk:i¢

& 8086 TES Q §oF @&&%‘m 305 )re Fhog sd Hoerd DRoIrIS

QTFAR0 DT 0. ‘@

&H6% SSgsn

—i3

Options :

; A.B&C
B.C&D

2.
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AC&D

A B&D

Question Number : 49 Question Id : 7512365489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following :
Set-1 Set-11
A) Suchonematic I) Monas
B) Pantonematic ) Urceolus
C) Acronematic M) Astasia
D) Anematic IV) Pojetoma
V) omonas

<0

BB T BBEDBBB.

D838 -1

A) DEISrSE

Y
%

B) &odis*Asrd3s ) efolred
C) JEDErESE Q,v. M edacd
D) 20558 &0_) V) 50

V) @E@ras
The correct match 1s

H830% F'B0D

Options :
A B C D
y I Vv I Il

=
—
2 0
< O
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A B

I I
)

A B
g N I

B D
I 1\Y
C D
I I

Question Number : 50 Question Id : 7512365490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) :

Reason (R) :

Jgpg (S):

580 (R):

In ciliates, conjugation restores the vigour and vitality which are lost due
to chromosomal imbalance in the macronuclei due to repeated amitotic

divisions.
Conjugation 1s temporary union of senile ciliates belonging to same mating
types. It often prevents exchange of nuclear maternal.

N>

QI H)ES0Bog ©I8 oI5, SD O 9 SFUBoEEoS” NG

E'Irg’dne vdhsogd Joooss BISE98, oSS0
900520 2530 0O Eos® ¥ R 08.

£SHS FShows &8 dq 5708 BoHS OB gy 20h ae) OF
008 &Gmﬁéﬂ M Bo|88 DTTo ATV AT HI08.

The correct answer 18

HOGHS BIPTHE® «@

Options :

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodor $8530852. (R) (S)%0 S050S D5 k%308,

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
, () (R) Bodor $8330852. (R) (S)8 05308 Jb8en adqdo Bb.

(S) 1s correct and (R) 1s not correct.
(S) 563058, 579 (R) 5050356 5.
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(S) 1s not correct and (R) 1s correct.
(S) S8R 5780, 570 (R) D006,

Question Number : 51 Question Id : 7512365491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct combinations.

Primary Host Secondary Host Parasite
A Man Culex Wucheraria
B. Man Anopheles Plasmodium
C. Man Musca Entamoeba
D. Man Absent Ascaris
8% BoedoPess KrgoSes. ,9
(FENE ©8Fow &180%H ©8Foxw ‘»Q Do) £
A SS9 > s7588 A & 53600
B. Sord o c—fmébé?f"(’Q, FIYEabo
) SrdHdd m@ Dodsder
D. s @V& &% 05

Options : &@

A&B
B&C

C&D

A&D

Question Number : 52 Question Id : 7512365492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The mterval between the first entry of Plasmoditm into the blood i the form of sporozoites
and the second entry in the form of cryptozoites is called

FIYEA00 PRES0m FTerond $rdod” FEoS" [HI30AIBNS Hod To&'Fd
EFaroninm $EoS’s ToSEK HT gy seobw:

Options :
Virulent period
g QB0 5700
Latent period
K36 5700
g

Incubation period Q\Q

FER 5700

@ 280 sTeo

A
Prepatent period 0«’

Question Number : 53 Question Id : 751236 estion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical
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Match the following :
Set-1 Set-1I

A) Benzodiazepines I) Euphona
B) Barbiturate II) Depressant
C) Herom (Diacetyl morphine) IMI) Sleepiness
D) Cocaine IV) Tranquilizer

BoB T 2SHBHS®.

”’Qgé - | M
&e.a__j:zé %@

A) ToF dolrznw) D)
B) erlaoglidden ) Sode DTS
C) ToTons (BINJS $r0)S) 1) a@saaoaa

D) &3S I\O&oé?m

The correct match 1s é
50608 &80 §C)

Options :

A i E DQ/V'

, I I
A B © D&
<% ® W B
A B & ©»
. N m o 1
A B C D
;I W 3

Question Number : 54 Question Id : 7512365494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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The cells of fat body of cockroach which contain symbiotic bacteria are

DrESS wr§odiro 08 wod Qo8 5 Jirderen

Options :

Mycetocytes
B D

Trophocytes
&)

Oenocytes

O
ST \
) ‘\9

Urate cells é
O

0300 Segren é
4
v.

Question Number : 55 Question Id : 7512365495 Quc.tion Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriepfation : Vertical

3.

Identify the correct sequen& ow of circulation of blood in Periplaneta americana

& (808 RHBS DOFILr @DOFT S CEEIG0Y 0G0 JFR) Hfood.

Options :

Heart — head sinus — aorta — pericardial haemocoel — perivisceral haemocoel
and sternal haemocoel

03 - do FLlo - DTFHNI - THRSrSdes SESTE0 - DJorgodorol
SEBSE0 00w &8 doE JESLSTEo
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Heart — pericardial haemocoel — aorta — perivisceral haemocoel and sternal
haemocoel — head sinus

08 — THBArSI8e RS0 > NFFPI - dorgodorod H8asn
G308 J08 S8R0 —» Ho §Ldo

Heart — aorta — head sinus — perivisceral haemocoel and sternal haemocoel
— pericardial haemocoel

0B > N o dgo BLo — Dorgodorol ool wid Pos
ggBorSo  —  TmSASrddn 880

Heart — penvisceral haemocoel and sternal llaemoc&—} pericardial haemocoel
— aorta — head sinus

08 — Jogodorod B 88 Dol 555&@ — F)BcsrSdes SE80TE0
- DFE00 o o FLdo

4- &
Question Number : 56 Question Id : 7512365496 Ques e MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orlentam%

Thermoreceptor sensillae of @q ach are present on

TROES” ey cﬁfon)@m & 1500 TU wodraw.

Options :
Maxillary palps
2085 égc'goﬁo
1.

Antennae

égdrg %go Ko
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Tarsi1 of legs

S o &rB)d

Labial palps

2T Te] éac“j;oﬁo

4.

Question Number : 57 Question Id : 7512365497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) :
Reason (R) :

g (S):
s°8e0 (R) :

Very small animals are rarely found in the polar regions.

Small animals have a larger surface area relative to their volume and tend
to lose body heat.

98 AN 2ORIW Gy ([FoT o & e on.
%) oo T8 BT PIH0 508 A8 S Gddde ITego

5OA &Goddo ég ﬁga’);’.&o éc@o&

The correct answer 1s é’

50G0% HEFETHB0

Options :

&

Both (S) and (R) are con&)@i (R) 1s the correct explanation to (S).
(

(S). (R) Bodkr HBHED.

R) (S)% %8508 D56

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
(S). (R) Bodor 58a050. (R) (S)B $6G308 Jd8e 5760,

(S) 1s correct but (R) 1s not correct.

(S) 8663058, 5 (R) $6H38 5°%.
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(S) 1s not correct but (R) 1s correct.
(S) $8IB 5780, 570 (R) S850Ib.

Question Number : 58 Question Id : 7512365498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following :

Set-1
A) Endosmosis D
B) Exosmosis )
C) Metabolic water 1)
D) Increase in the RBC production V)
808 A 2SEHBBOBW.

D8 -1
A) @088 BTHHG
B) oy BT9S8m Q;m
C) 258> zoB® @ 1I0)
D) Js§sere ©bESHS

&
&

The correct match 1s
QOGN FGoY

Options :
A B - D
., I m N I
A B C D
; I I \Y I
A B & D
: I I I I\Y

Set - 11
High altitude adaptation

Desert adaptation
Problem for fresh water animal

Problem for marine animals

N

Q@ES o8 ssrol0
QT80 eddrodo
008 EPho Doy

IV) 3@ £o SJ0dg

collegedunia

—



I I\Y

Question Number : 59 Question Id : 7512365499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following pollutants competes with oxygen for binding to haemoglobin
and mterferes i oxygen transport?

Bod HRES TWRITETOS” A& BEHES TIAFTASS’ pofoludtos” FEHE wls

SerS” @odoroio 8OAN0L?

Options :
Carbon dioxide

"G\ aes8)&
i, oo

Sulphur dioxide

53&:35 Q@Qj&
2I [ & -

Carbon monoxide

S‘-’d&xﬁ 33“5‘30)5

Nitrogen oxide

SWRS «§)a

Question Number : 60 Question Id : 7512365500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The cells which remove unwanted substances and microbes that attack the liver by

phagocytosis are

58000 T0EN0DH Eered, TR TEHWD Srf)EHo ngln (o Fofod S

Options :
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Neutrophils
Srged oS

Kupfter cells
056 Serew

Mesangial cells
A WOEONE Eegrew

Monocytes

S w0
4. - Q
Q,\

Question Number : 61 Question Id : 7512365501 Question Type : MC [mhuﬂling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bohr effect refers to OQ,

&6 Herdo edm : v-§

Options :

Alterations in the levels of C&% pH has no effect on the affinity of O, with hemoglobin.
CO,, pHF oo Sty s8jzs, TIrTds oy fo odwodon Jurod Herdo
TIP3 &0.

Increase in CO, and pH m blood results in decrease in the affinity of O, with
hemoglobin.

880e5* CO,, pH © e FrIrfdss’ sdins odnom) $0908.

Decrease in CO, and pH in blood results in an increase in the affinity of O, with
hemoglobin.

88os* CO,. pH © 880 TrIrfdss’ sfind efwosd) wodhhéod.
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Increase of carbon dioxide in the blood and decrease i pH results in the reduction of
the affinity of hemoglobin for oxygen.

g80s” CO, Frow woibde, pH $hde it TAPTANS Ko vwoT)
SHN0A.

Question Number : 62 Question Id : 7512365502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : The sinoatrial node 1s called ‘Pace-maker’.

Reason (R):  The smoatrial node contains specialized cardiomyocytes and generates
action potentials without any external stimuli.

Fgog (S): DT85 Beo Yo ‘odirdoiEo’ @l Deod.

sdmo (R): Do 805 SR’ @od Tydos éodqea"m g Bsooa
BoSriTos eS8 Tpon. QN

The correct answer 1s :&

2GS DEPGSS0
Options : @
Both (S) and (R) are correct an 15 the correct explanation to (S).
(S). (R) Sodor $65308. ( )50 DOGS DG RS
1. «
Both (S) and (R) are correct but (R) is not the correct explanation to (S).
(S). (R) Bodr 5653059, (R) (S)8 5080 58 asdo B,
2.
(S) 1s correct but (R) 1s not correct.

(S) S0HG, 577 (R) S8R& 57¢.

(S) 1s not correct but (R) 1s correct.

(S) 58356 52, 570 (R) $05038.
4
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Question Number : 63 Question Id : 7512365503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Following events are associated with blood pressure regulation by kidney.
A) Formation of Angiotensin IT

B) Secretion of Aldosterone

C) Fall m blood pressure

D) Reabsorption of Na™ from distal convoluted tubule

E) Release of Renin

F) Restoration of normal blood pressure

G) Conversion of Angiotensinogen to Angiotensin I

H) Activation of Juxta Glomerular cells

& 808 2¥cdS Sodododen KK Ind GEES E85 DowodoI.

A) sozdrde-II Ddsé)é.a \Q
B) «g209 ©RIodb (»Q
C) ogbaso S A

D) &rodosds s¢os® Na™ o

E) 335 ddode @
F) &8 88548 @;sa:gsd

G) woe@Er8YSas. &v@aaﬁ-l ™ Srdyett
H) 2§5ir fodrers §erdd 432080

003" ED

The correct regulation sequence is
588 EoeHdo

Options :

D-H-C-A-B-E-F-G
C-H-G-A-E-B-D-F

C-H-E-G-A-B-D-F
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H-E-G-A-C-B-F-D

Question Number : 64 Question Id : 7512365504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement with reference to shortening of sarcomere

FEYGRE FEY SHEOB D000 J/Y Trgpgoe Kofowod.

Options :

Z membranes brought closer. A-band unchanged. and I-band reduced in length

Z Ssaren SRS 200, A-H8 ohersdor dod, 158 >89 &Kdo

Z membranes brought closer. A-band and I-ban duced in length
Z-Sgaren SHEm 200, A58, 8o @‘céa‘é)

Z-membranes unchanged. A-band an SC)nd reduced mn length

[-81ren oRFrEdom wol, A-g 380 PEI &ibo

.k @
Z-membranes brought cl band unchanged and A-band gets reduced in length
Z-Sgiren SHST 208, 188 dhpdgor wod, A-58 28 SKdo

Question Number : 65 Question Id : 7512365505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Statement (S) : Damage to cerebellum results in uncoordinated voluntary muscle
movements

Reason (R):  Cerebellum is responsible for the control and coordination of locomotor
IMOVEmeEnts.

Jgpg (S): @[ 0 BeSHLowd JHIoh Ford Acho@E Sodd EEOEew

Senoaroo.

sdo (R): A0S 88080 Qobo@en, d:0300dnd @Yo A68N08.

The correct answer 18
2OGS DEFTHH

Options :

Both (S) and (R) are correct and (R) 1s the correct ;@natiou to (S).
(S). (R) Bodkr $850359. (R) (S)& 8808 a@

1 &

Both (S) and (R) are correct but (R) 1s correct explanation to (S).
(S). (R) Bodr S6c0d. (R) (S)s & 58ed 570,

(S) 1s correct but (R) 1s I?CCL
(S) $853088, 579 (R) 68356 s7&.
(S) 1s not correct but (R) 1s correct.
(S) 365058 5060, 57 (R) $65058.

Question Number : 66 Question Id : 7512365506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following statements are true for progesterone EXCEPT ONE

FRROOE Jo0HONS Trgpgen o), wEB &)
Options :

collegedunia
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It prepares the uterus for the implantation of blastocyst
RO TYRY POTHIH Hop¥air) dFo Do

It causes formation of alveoli in the breast and helps in secretion of milk
88 fHodhod’ sdiBrde Tt (820D 855188 JFtalddisiod

2
Its withdrawal prolongs pregnancy
& T BwE), GRdorrin (T FIrigod
3.
It inhibits contraction of the uterus Q
20 Hondas SoSmols AEHH08 N
4. S

A

Question Number : 67 Question Id : 7512365507 Question Type : ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verticalo

&
&
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Match the following.
Set-1

A) Cretinism

B) Simple goiter

C) Cushmngs syndrome

D) Myxedema

SB8*<

Bod TAY 2EHEIHI®.

588 -1
A ESI=S )
B) $6¢ maniss i)
0) ok DoE'™ )
D) 2§a5> IV)

The correct match 1s

Options :
A B 3 D Q/v.
. I II I N@
A B C %
. T T W ¥
A B C D
] I II I \Y
A B C D
. X W ¥ ]

Question Number : 68 Question Id : 7512365508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Set-II
Adult hypothyoridism
Congenital hypothyroidism

Iodine deficient diet induced hypothyroidism

Hypersecretion of glucocorticoides

w38 - 11

TE 0rSYAS" BT Gezad
DENES® J0PJoB TIFForondud
85#50S" oRBRES S*H0 o JoFJoB
?ﬁ@@m;\‘é |

QOGS 'GP o@&
. S
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Match the following:
Set -1 Set-1II

A) Vaccination I)  Artificial passive immunity
B) Granzyme release II) Cell mediated immunity

C) Lysozyme mediated IIT) Artificial active immunity
D) Antivenin IV) Innate immunity

808 T wSBBoEB.
5658 -1 5638 - 11
A) S8R AS Sy8d By SHAGEES
B) (roEan Jdde EeoQ80d ORI PES
C) B¥ES 565508 s Ecsirse RIS EES
D) o5rolS3DS ‘@a&?\}g BRI SES

S B &=

The correct match 1s Q,

DOS E'EoY é
Options : @v

A B € D @
o I 3
1_ A
A B € D
. o N R g
% B € D
r 9 B W
3.
A B € D
m I I W
4.

Question Number : 69 Question Id : 7512365509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
e collegedunia:

India’s largest Student Review Platform
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Statement (S) : There 1s LH surge m Ovulatory phase.
Reason (R):  LH surge induces the growth and maturation of follicles in the Ovary.

Jgpg (S): wo&E)§ ¥ LHI§ eotwod.
5800 (R): LHI§ wordohos® H8se b, 8089 (w8206,

—

The correct answer 1s
DBGS DB BW

Options :

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodor $805. (R) (S)s0 5050$ B8 2:d08.

1.

D
Both (S) and (R) are correct but (R) 1s not thef&ct explanation to (S).
(S). (R) Bods $06c30852. (R) (S)s éa@éém RS0 BEo.

(S) 1s not correct but (R) 1s corre@

(S) $85058, 5 (R) 566308 ,

3, %
(S) 1s correct but (R) 1s not correct.
(S) 566088 50, 57 (R) H05088.

Question Number : 70 Question Id : 7512365510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Match the following:
Set-1 Set-11

A) Natural method I) Cervical cap.
B) Intrauterine device II) Depot Medroxy Progesterone Acetate
(DMPA)
C) Injection III) Lactational amenorrhea
D) Barrier IV) Lippes loop
8o T 2SEDBIHB.
L 588 -1I
A J5= B’Jcéefé I) :’102-50‘53 S0PTE Do
B) Aopdcirods &S0 I oD@l @BRoS 58S (DMPA)
C) 308 B0 1) wéééé@n‘s‘soﬁy
D) e3&8¢o IV) &% o
The correct match 1s &
DB F'RoY @
Options : @o

A B ¢ A?-’
] \Y I 1I I
A B ', D
\Y% I I il
.
A B C D
il % il I
4.

Question Number : 71 Question Id : 7512365511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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The phenomenon where more than two alleles exist in a population of an organism at the
same locus on the homologous chromosomes is known as

08 £ 2TS” SB0erSH F'IrE D00 &8 FI0S” o §oB I8, S sl samyend)
Q080y&:

Options :

Co-dominance

QTG BB0500

j B
Polygenic inheritance
0TVRNG BWNI03I8S

2. Q

N

Plelotrophy ‘»Q
lev S (e &

3’ ¥
Multiple allelism @
I adoly Sy @v.

4.

Question Number : 72 Question Id : 751236551! Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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In which of the organism. the following type of sex determination 1s possible
& 808 2 2IS' & §od JLod® AdwdsS ol QT e Hogfdod

d

AA 70 AAZ7Z
® @ %)
AZ A AZ
AAZ7Z
of &
Options :
Fumea C’Q,
LoD @
1

&

Grasshopper

Drosophila
(oo

Question Number : 73 Question Id : 7512365513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : The heterozygous individuals for sickle-cell anaemia (HbA HbS) express
disease phenotype and also carriers of the disease.

Reason (R):  Hb” Hb® genotype individuals are resistant to severe effects of malaria.

Jgog (S): DESHS oS> (HbA HLS) DEBooinMyz Sg8ien TEEI HgEH0T
B)Egsrdo EON w0l FTFT LT ST 0L

580 (R):  HbA Hb 2805850 Sg8sen S0800% 758 & oferre $0d I HEES
50A Golrd.

The correct answer 1s
2030 HEPFSB5
Options : Q
Both (S) and (R) are incorrect. Q\
(S). (R) Bodr $8&05D 59 q,
Both (S) and (R) are correct. é’
(S). (R) Bodk» H6Bo8
> Q/v.
Both (S) and (R) are cen'g@ (R) 1s suitable explanation to (S).

(S). (R)Bock £355, (R) (S) & 05 D56
S

(S) 1s mcorrect but (R) 1s correct.

(S) JBFDI& 5780, 57 (R) S8I&.
4,

Question Number : 74 Question Id : 7512365514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



Match the following:
Set-1

A)  Cyanognathus

B) Archaeopteryx

C) Seyvmouria

D) Eusthenopteron

808 TID BBEDE S,

5% -1
A) SAOSTMYFS
B) @8,a0~268)
C) DIrdair

D) aﬁr?m%mﬁ

The correct match 1s
P0G F'GoY

Options :
A B C
N 1T &
A B C
I I I
& B £
.,V o I
i B &
m I I

s

Set-1I

Reptiles & birds
Amphibians & reptiles
Reptiles & mammals
Protochordates & fishes
Fishes & amphibians

8 eg8"

238 -11
D J385dren, SPoen
I < oren, H0JyTFren
1) Qﬁa&ex. S8 en
& Lrsiglnen, Sden

0% Sten, PSBTe

vi
@

< o <‘:U).

a2 S8

1 E
collegedunia
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Question Number : 75 Question Id : 7512365515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following factors 1s not mcluded in the *“Modem Synthetic theory” of
evolution?

E08 RIc20ES 550’ OO ‘BHIE £I S0 éaéés@ ?oq:oe‘ﬁo'eﬁ"" Do BONE BB SE?

Options :

Mutations & Genetic recombination

GSBJET L0, BF YVDOBTTRIT

Inheritance of acquired characters
GoS MeTrw VI0IEY

Natural selection

&
(RS H8=a0 é’

Reproductive 1solation Q/v.
SBLNE DHES
4. PPN =3 &@

3

Question Number : 76 Question Id : 7512365516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The survivors of original population from natural calamities might be genetically different
from their ancestors. This kind of evolutionary force 1s known as

288 Id0ege STd 288S 2hoo IO FhHos adogddorr IBBOBIWY. & FEIS
20370 2R 15ob JFom HBoWIE),.

Options :

Genetic dnft
aﬁng DD
i)

collegedunia
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Bottleneck effect
TOEIS (DerRo
2.

Stabilizing selection

?&355659 S0
c o

Directional selection

" ST B0E S0

Question Number : 77 Question Id : 7512365517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Bird flu 1s an important disease aﬂ‘ec% poultry birds.
Reason (R):  The disease s caused by H/N, viryg’

agpg (S): FQ oo T SopgR & e .
6o (R): & o580 H\N, o3 368 0008,

The correct answer 1S QB

HOGHI BIPTHB®

Options : &

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodr 3850352, (R) (S)80 S8GB0s S8 283086.
i

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
" (S). (R) Bodor $653052. (R) (S)80 68308 180 addo B,

(S) 1s correct but (R) 1s not correct.

(S) 585058, 572 (R) 565058 §°%o.
<
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(S) 1s not correct but (R) 1s correct.

; (S) JBIE 5780, 570 (R) S0d&.

Question Number : 78 Question Id : 7512365518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of steps that are followed mn gene therapy.

Altered virus 1s mixed with cells from patient

Therapeutic human gene 1s inserted into the virus (vector)

Cells are collected from the patients

Cells from the patient become genetically altered

Remtroduction of genetically altered cells into patient

Suitable virus (vector) 1s selected and altered

The genetically altered cells produce the desired proteins or hormones
N

alog D8 S® 20D IBS SHIJBED voBo f‘bgo:ﬁc%

OHMYN W

A Srd) TS IR TR Sood 8dS Serredyfoilio

B. 08and 5788 adghis 368 (mfméo)e@; Foé8o

C. &0 Dod Seorod Jofierodido o

D. &8 Hod 823 Segren adogddo Q{:@oééo

E. adghdor SodnBodsd éw&eﬁ"g 88h DBIFnLBo

. 50g0s 365 (356)% J968p sty Sosossdo

G =20Hghdor SrdnBobs Sedben oISERd FED o B F*& Mol = éyd o
Options :

C-B-A-F-D-G-E

C-F-B-A-D-E-G
2.

C-E-F-A-B-D-G
3

C-A-D-E-B-F-G
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Question Number : 79 Question Id : 7512365519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gene P33 guards integrity of DNA and hence called ‘Guardian Angel of Cell’s genome .
It checks the integrity of DNA at

P53 35059 DNA S50idds 50880208 508 5D ‘S 255 Ho8gem BSS'™ Heodnd.
28 DNA S50if83 & 8§S° 329 38208,

Options :
S phase
S &%

G check point
_ G1839 Do
G, check point
G, 829 DoH
3,
M phase
M &%
4

Question Number : 80 Question Id : 7512365520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which wave patterns of Electroencephalography indicate the possibility of presence of

bram tumors?

QOE I RIT WS 2 B8l ATH0 EHS® Eadhenod BT Fo GoS Jrdd0d.

Options :
Theta waves

S SSomen
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Beta waves

HEr Sormren
2

Alpha waves

5 SO sgomen

Delta waves

ae.u; SSomen

Display Number Panel: Yes q
Group All Questions: No \

Question Number : 81 Question Id : 7512365521 Question Type : ptmn Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertlr.al

1tatlonal weak nuclear. strong nuclear and
option

Let G. W, S and E be relative strengths
electromagnetic forces. Identify the C

G. W. S 58a5» E en e r:Sodw.J BSOS, Do BoEE Hodadn Dzl o
0E 2o daven BFHIE0. WIS 2O)FQ) lodod.

Options:
SJE
W G

1.

W_S
P, sy
(y E

o
= &
e S
E W

3.
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Question Number : 82 Question Id : 7512365522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the physical quantities with their correct SI units.

T8 ochHod T8 B Sl Pirsres® 28Bainsw.

List-1
A) Planck’s constant
B) Torque
C) Weight

D) Specific volume

588 -1
A) &Fof Rorossw
B) &5,
C) add»

D) 933 505,050

The correct match 1s

585 S*Bo

@ ® (©
I J\% I
;
@ ® (©
N S A

List-1I
) kems™
m kg

(D)

(D)
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Question Number : 83 Question Id : 7512365523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Points P. Q and R are in a vertical line such that PQ = QR. A ball at P1s allowed to fall freely
with zero initial speed. The ratio of the times of descent through PQ and QR i1s

P, Q%3805 Rodden dend o PQ=QR erostns)d. P34 $08 058 &rdgom
RORS w8 208 Ty Doty Barco. PQ HoBok Q@aéw 8088 208 BELrRE

A FUrY QS Q

A

) 1(v2-1) Q/V'é
1:2 &o‘,

rl:ﬁ

Question Number : 84 Question Id : 7512365524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Consider two particles 1 and 2 moving with constant velocities v, and v, .If 7 and 7, are
the radius vectors of the particles at the start. the relation between #. 7. ¥, and v, when
the two particles collide 1s

V) $o8cn ¥, 36 red* Hairdoub Bod Swren 158000 2 ol H8KBoEes. s8ods
BIS* Eero gg BOF0 7 0050 F wowd, Bok Ewre eddrdo 038 K. 5.V
8050 V, © Sy Bowodo

Options :

fi-h _ %=V Q,V'
|’_’i‘r‘z| F’z"?l‘ @
4 &

Question Number : 85 Question Id : 7512365525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider a particle moving in the Xy plane with velocity V=ai+ bxj . where ;i and j are
the unit vectors along X and y axes and ‘a” and 5" are constants. If the initial position of the
particle 1s x = y = 0. the equation to describe the particle’s trajectory in the plane 1s

Xy S00S* 3sw V=ai +byj & HosrBitys) §e00) $0KBothn, 0SS § Ho0aHs J e
X 58050 Y 08bfod’ I5°08 387w So0asn ‘a’ $08050 b’ eo RETH. wo BwE),
£ 350 x =y =0 sond, oos Emo DY, BES Srod) 5otk HHEGHI

Options :
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y=—Xx
2a
1.
y=x>
2
b
y=—X
a
3,
2b
y= et
a
4

Question Number : 86 Question Id : 7512365526 Question Type : MCQ Option @ : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
A ball of mass 0.45 kg which 1s mitially at rest 1s hf& bat. The bat remains 1n contact
with the ball for 3 x 10~ s. During this time peri&he orce on the ball by the bat is given
as F(r)= [(a'x 106) - (ﬁx log)rz] N whes d 3 are constants. The ball’s speed.

immediately as 1t loses contact with 1s 20 mv/s. The correct relation between
oand B 1s v.

Fend Josdm S8 0.45 kg @jsgesa 208 w58 LT, =gl 2088° 3 % 107 s LS
G5B, & T B06E" gl 0¥ EeERS Boo F(;):[(gxloﬁ);.—(ﬁxmg)ﬂm

R0HS" A S0 fod Pordbw. wghs w08 HY) FEHand Jobd 208 S& 20 m/s
0 o005 f o oy DO Dowodshw

Options :
. o—2p =2
g tph=1]
3
a—fp =2
3,
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Question Number : 87 Question Id : 7512365527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two horizontal forces F; and F, act on a ball of mass 8 kg. The forces are such that

11—:1 =(14N) i and ‘E ‘ = 20N . If the x component of velocity (v, ) changes linearly by 3 m/s in

1 sec. the angle between two forces is

8 kg (&5550°8 Ko w08 F1 5005w E, Both §8a 557088 veren SBHH). & peren

E, = (14N)7 506050 [B]=20N. 3rto @08, x eoto (v) Shasorr, 1 DE%e* 3 m/sm
Sy Bob8 © Dol were Hody o S \q
Options : Q

30° ‘v

2. | $
60 Q/

- &

Question Number : 88 Question Id : 7512365528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle of mass 10 g is thrown vertically upwards with a speed of 20 ms™. The work
done by the gravitational force during the time the particle moves upward 1s

10 g (855073 Ko 8e07Q) )™ 28§ 20 ms~ $&S8° 928 InTE. &m0 28 (58N
se0S" HdeEdn oo s 59
Options :

23
1.
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0.196 J
B
—-0.196 1
4.

Question Number : 89 Question Id : 7512365529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a process. certain amount of mass gets converted into energy. Let all the energy so

converted be in the form of photons. If 700 x 10'* Hz is the mean frequency of the photons
and if there are approximately 10°° photons, what is the approximate mass that is converted
into photons? (Assume h=6.6 x 10>*Js, ¢ =3 x 10* ms’l)g

o8 PERHST, Fod (B550°8 B Srdod. & O 5‘32359&3 3ndo 9§ PirSe
ErH0e5° GTCHHETHIN. PErlSe Hods av;s 30 x 10" Hz 080 FirSe
dopg 10 wond, oy Jod S5 P @ cgz.,&oa (h=6.6x 107" Ts,

c=3x 10°ms™ eorr ©H58550)
Options : @

2.
51x10° ¢
3.
5.1mg
4,

Question Number : 90 Question Id : 7512365530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : If the ice on the polar caps of the earth melts. then length of the day will
Increase.

Reason (R):  Moment of inertia of earth increases. as ice on polar caps melts.

PIESB50 (A) : g SYR IPTO BFHNF) ool E6A8, o8 S B0E), 57 Ig38

K08,

o (R): rdo &) 3pvre G808 oo 008 grdo Bwg), 2ddr rkossn
RS0 H.

The correct answer 1s

SOGDS HIPTHBI0

Options :

Both (A) and (R) are true and (R) 1s the correct e 1on of (A).
(A) 508050 (R) @0 Bodsr Q20 H0d8asw (R) (A) 8 350 ol JHYes.

A

Both (A) and (R) are true but (R) 15 notQ, orrect explanation of (A).
(A) 56050 (R) e Bodr Jessos s@) 36 (A) 8 56 sows IS5 5.

> Q/V-
(A) 1s true but (R) 15 falsel\@
(A) dzzdo 572 (R) 8.

Both (A) and (R) are false.
(A) 508050 (R) en Bod 83y.
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Consider a thin rod of mass 1 kg and length 1 m. The material density of the rod at a distance

x from the left end of the rod is proportional to ﬁ . The moment of inertia (in kg-m?) of the
rod about the axis passing through the left end and perpendicular to the rod is

1 kg $550°8 $00050 1 m DEHE) S50 $40 H0KBoBos. g w0 H0d TID

X 8r8osS’ &b 8§ SHod doBd Jx 5% ess srh>sos’ o)d. 68 eoworr
Gotar D §S How 3HT) wfo Do E§ uds; EroEsw (kg-m’ o)

Options :

Question Number : 92 Question Id : 7512365532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An object was found to make oscillations governed by the equation y = cos” ( Wt + ;) -0.5.

The amplitude and angular frequency of these oscillations. respectively. are

v/
y= cosz(ax+z] — 0.5 3208807 ©HHOIM 28 5539 FoTer FRHE KHJoTE.

& FoTo EodS HBWE Hodbakw Fedad FdPdgo devden SHJT

Options :
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2.

0.5. 2w
3.

0.5. w
4.

Question Number : 93 Question Id : 7512365533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle of mass m 1s placed at a distance x from one end<f a uniform rod with length L
and mass M. The magnitude of the 2rawtat10nal fmce the particle from the rod 1s

GM:
F= ﬂ[ 5 11) where fis constant. If x=— tliﬁb'aluc of § will be

L 245 50050 M ($550°8 Ko D868 g@ 2§ DBB H008 x ErBoS® mBS50°8 Ko

GMm
12

o8 8000 GodnGoR. éé} oo éwo%?ﬁa Mo e sdo oo F=f ) , ROES”

.
Peg Q8073 x=— ©andS %339.:053

>

Options :

:
3

Mluf

W |
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Question Number : 94 Question Id : 7512365534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A rectangular frame of some mass has to be suspended symmetrically by two mass-less
strings of equal length on two supports. It can be done in one of the three following ways
as shown in below figures. The tension in the strings will be

Romd &I KON (BB50™3 GerdIod Dol SoodRrion ok srrorw Hod” &
B SHETE B0t FPSor BerdbabIBh. B §od a3wAS Surds Dgrear
DL05" Frdabdin DohILns. Soghed® ol SSgd

O
“9’\
A

(A) @\ (©)
Options : @v

the same 1n all cases @

Sy

©d) dodones® &Eh
: 3

leastin (A)
(A) &° eggeoydn

least in (B)
(B) &° eggonbn

least m (C)
(C) & eggoybn
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Question Number : 95 Question Id : 7512365535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A vessel contains oil (density = 0.8 g cm™) over mercury (density = 13.6 g cm™). A
homogeneous sphere floats with half of its volume immersed in mercury and the other half
in oil. The density of the material of the sphere (in g cm™) is

o8 PES' FESH0 (Fogd = 13.6 g om™) TIDS Bosw (Fogs = 0.8 g cm™) en
0N, 28 $erdod FEHn T of HSHBIr0dn PSS S 0878 vfrrio Buod S
IBogsD Bendod. AY Sorgin G Fos (gm™ o)

Options :

5.3

O
‘]9’\
. A

&
28 @
v-

Question Number : 96 Question Id : 7512365536_Ques .on Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie ian : Vertical

Work done in increasing the& of a soap bubble from a radius of 3 cm to 5 cm 1s nearly
(surface tension of soap solution = 0.05 Nm™)

a8 Sy 208 mgsavg:m 3cm&Sod S cm o DTS BHJJ0VS J0 TTH T
($e)) (@S0 Bng, Sodsgs =0.05 Nm™)

Options :

(0.70 m) mJ

(0.64 ) mJ
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(0.30 7©) mJ

(0.58 ™) mJ

Question Number : 97 Question Id : 7512365537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A metal block has a linear expansion coefficient of 810~ / °C and its density at 20 °C
is 11g/cm’. The approximate temperature at which its density becomes 10 g/cm? will be

2.8 S BBy Boof) BE eSS oot 8x107°/ °C 50w & Fogs 20 °C o 3¢
1g/eny. & Fodd 10 glom’ ehLsh shods e deod Ldrdm

Options : ,9
22050, (»Q
1. «
2 437 °C éc’Q,
328 °C
&

373 7C &@

Question Number : 98 Question Id : 7512365538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The area measured on the surface of a solid body of coefficient of linear expansion & 1s A,
at some mitial temperature. If the temperature changes by AT. the approximate change in
area. AA 1S

25TE &0 SIS & LY TEEE Kb A BOAS o8 &) SWY Swon FOIS
STogin A, GPHSS' Sorddy ATeowd dodn Foghsnd” Seord Srddy, AA Db

Options :
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'afAOAT

(arA,AT)/2
2.
2aA AT
3.
'2aA0
AT
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Question Number : 99 Question Id : 7512365539 Question Type : MCQ Option & : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A gas undergoes a thermodynamic cycle as shown ﬂl@\re-volume diagram below. The
heat transferred to the gas 1s 300 Jand 140J alon%ath — 2 and 2 — 3 respectively. The
internal energy is changed by —260 J along pa@ 1. The work done by gas along path

13525318 o

H0S* SrHS Do HES - LD @- ES50 Sododin uf TR0 SHAeE SBa
Eob% %0208, 1 — 2 59805 &l

S8dm 300 J Sovosw 140 @) 3 > 1 50 2086385 Sovddy —260 J. H85w
1 52> 330d T°0508) DR %

3 JTO T(0° TSNP ESTAW00NN RO

(Volume and pressure are
constant along path 2 — 3 and
1 — 2 respectively)

(08 D03 BB
958550 2 9358050 152
JT0 Jody S&(m ?{géaﬂé:w)

Options :

-801J
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140 J

2.
160 J
3.
180 ]
4.

Question Number : 100 Question Id : 7512365540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The molecules of a monoatomic gas has rm.s. speed v at 27 °C. It 1s heated until the rm.s.
speed becomes 2v. What 1s the new temperature?

27°Co 3§ D8 HYSrenE TODOYHSTR LevHe IL.IML.S. 3 '%z)a I.IM.S. 3& 2vesid S8
38 D>, @Y TS0 FE GRS Jos? ‘»Q

Options : &
~ 1200K C’Q/

| 600 K Q/$
) 300 K &@

400 K

2

Question Number : 101 Question Id : 7512365541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A source of sound gives 5 beats per second when sounded with another source of frequency
100 s™. The second harmonic of the source together with a source of frequency 205 s~
gives 5 beats per second. The frequency of the source 1s

2.8 S0 aES0t TS0 100 ST Ko HTE GO 2S5808” FIR0IERS ©d DEHE
5 DdjosTros EOAK0B. =SESL Gl Boks TrordEsm, 205 5T FSuhSgo Ko S8
2IEINE FOV DEDL 5 IDodTod BOAN0H. I 2BIEI0 GoE), ZIINGo Jend

Options :

95 g1

100 s~

Oy
N,
105 ! ‘]9

205 s~ C)é}
| S

Question Number : 102 Question Id : 75123655 Qu@iﬁn Type : MCQ Option Shuffling : Yes Display Question Number : Yes
@1 : Vertical

Single Line Question Option : No Option Ori
A transverse wave propagatmgalong v-axis 1s represented by
. T
y(x.1)=8.0 sm[ 0.57x —4rxt - Z]

where x 1s in meters and 7 1s in seconds. The speed of the wave 1s

Y-850 0L RIBWN) 8YgE Somr)
| . /4
y(x, )= 8.0sm(0.5xx — 4t — EJ

& SrDoTrd. 20ES* ¥ bLPS® DO tREDOS' Gamon. Sk $& Dend
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Question Number : 103 Question Id : 7512365543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 45°-45°-90° prism as shown 1n the figure 1s immerse 'N’dter, A ray of light 1s mcident
normally on one of its shorter faces. The minimum uﬂ@f refraction that the prism must
have 1f this ray 1s to be totally reflected within Kgl s at the long face of the glass 1s
(Assume refractive index of water n____ = I.B)Q,

SEoS® Grod dom 45°-45°-90° mﬁ@g"éﬁl DOS* Swod Gowdh. Do B,
A Sorod’ w8 TR w8 5708 88 moaom LBV 0Zo8. € S8 VB0 WG
00 Job merS'AE SoFg D075 0BT A8 Merdo GodI0RS EAD JEHIS Kaddn
Dend (A JHBHSS ﬁ:mé:&n«é 1.3 088050)

Options :
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Question Number : 104 Question Id : 7512365544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a double shit experiment two mterference patterns are seen on the screen. One pattern 1s

due to light of wavelength 500 nm and second pattern is due to light of wavelength 400 nm.
The distance between the slits 1s 2.5 mm and the distance of screen from slits 1s 1 m. The
separation on the screen between the fifth order (m = 5) bright fringes of two interference
patterns will be

208 NO8L (HARrKHa0eS* ok 355888 Jrgaten @?@Q%qoa“m. &8 Jrgarsno 500 nm
S0 BEgH0 BONS 088 Hobosn Todsd 400 KRG 50 BONS 5708 GBI,
wdfo Sy Erddn 2.5 mm Sododn 88 & Ofow Py S 1 m & Tod
FgFoS 55 ERY (m=135) Sgdocsh :@ &g o o (85)

Options :

0.2 mm Q/v
1 &@

0.4 mm
0.08 mm

0.06 mm
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An electric dipole of length 5 ¢m is placed in an uniform electric field of 5 < 10° N/C at

an angle of 30° with the charges + 10 mC and —10mC on the dipole. The dipole experiences
a torque of

5 cm FEH) IBgS ST ), VEES DBgS Fgo 5 x 10° N/C &* & & Ko +10mC
Hocsn —10mC I&grIred” 30° ToboSinodTd. BEHSsn &S &f),

Options :

125 Nm
1.

250 Nm

75 Nm
; IS
100 Nm ‘\z

" Qd,&

- vICQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 106 Question Id : 7512365546 Question
Single Line Question Option : No Option Orientation : Ve

A parallel plate capacitor of two plates
The capacitor 1s iitially connected to

the plates so as to fill the air-gap
the capacitor from the 100 V &:

(

L Assume

ith area 907 cm”. is separated by 5 mm air-gap.
source. When an unknown liquid 1s filled between
itional charge of 95 nC 1s found to be flowing onto
- The dielectric constant of the liquid 1s

)
=9 109 N1112C_2J
dre,

0.8 VArodd Lo STFALOS ), ok dosen, b)) E ST OGN 90 cm? $9A 5 mm
MmO w0880 G, O &$¥S° BFrvs 100 Ve 255708 Sogrssn D, md
©0dTR) VoPE>r BOSHA o8 1B JTgoBd Jokw gy wrifo JoIYE 100 V 2235850
D0k BFoLiRE 5 NC o 0§ B0 RITroNOB. (BSo BwE), Vs ATEE QT 08B0
DD

( 1 _ox10° Nm2c2m @9&’)35‘63533]
4}1’&0

Options :
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Question Number : 107 Question Id : 7512365547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An ideal ammeter 1s connected to a battery as shown in the ﬁq The currents through the
5.0 Q resistor and the 2.0 € resistor are. respectively \

w0 Lormn ddom w8 @CSCS{; &iﬁbé&.}&& &&?&&@*6). 5.0Q e 958%BS50 Hodas
2.0 Q o AFSIDE Hom DERS BT am@mm

0Q 10V
SVAYAYAVAY,
5.0 Q
Options :
Zero: SA
Qd): SA
1
Zero: 1A
Q0 ).
’ SUIN)) 1A
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EA: 5A
-

5.0A: Zero
50A: Q)

Question Number : 108 Question Id : 7512365548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When operated at 240 V. a current of 10 A was seen flowing through a heating wire and 1t’s

e

temperature reaches to 1000 °C. If the temperature coefﬁc'g@f the wire is 1 x 107 / °C,
its resistance at a temperature of 0 °C 1s Q

240V 5¢ 52 30s9d, o8 38 Sabeadosd) SR 10 AddS STorsn B55rod
o GEES 1000 °C & Sodootnod. &if e foegsn 1x 107 /°C wond

TR 8@ 0°C ;’Jg é
Options : @i

20

: &O_,
40

2

124

8 Q
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Two very long straight wires each carrying a current I are placed at Li’i =1j z«mcl‘i*‘2 = JF
The wires carry the current out of page (in k direction). If the magnitude of magnetic field

= o et I .
due to current in wires at pomt 7 = 2/7 1S |B{ = a{ ‘UT"] . then the value of constant or1s

(1, 1s the magnetic permeability)

2828 128058 Baririn & Dok ©8IEBS 85 o F=1] 530050
B=—l] © 38 Sowd. dfos® Y Sods wingor (F BIT) &S BT Hw
BRBEGE. Bros* @8 DS Badro So Do F =217 5§ Wk echdnos §

58 BEaH0 |E]=a'[—’L—’-]!’—I-) SaSYE o PorosBD Jew

>

(Hy @00 08 08LAOB JordS08)

1: $
> Q/
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An electron is moving through a uniform magnetic field given by B = a'[f + 3;] T .where
o 1s a constant. At some instant. the electron has velocity v = (f +2 ] ) nys. If the magnetic

force acting on the electron 1s .(3.2 x107" N)is* . then the value of & will be

B=afi+3j]T & troosuds 2¢68 sahigos §8os* ol JOES SSembHB.
R @k JETE LETE SSobodt, Jogs V=(i+2j)mls 3xsn on s,
I(3.2><10_19N)A: O3 ©o 08 w0 Qe.:LsE_‘;S D WEg 208, A Je

Options :

1
i

Question Number : 111 Question Id : 75123655!1 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A magnetic dipole of moment 7 is placed in the magnetic field B. Itis free to rotate about
an axis about which its moment of inertia is L. It 1s displaced by a small angle 8,(6, << 1)
at time 7 = 0 s and released. The dipole undergoes simple harmonic motion with

2
. o : o
angular frequency . Its potential energy at time 71s : (Assume Si(@) = &. cos(ax) =1— 5

if a<<1)

©0H,08 ErHEID Tt Ko ©00R08 BIKITA) BHI 08 FFo B & $odTd. oI
2 oo Horr 2880 Erdosdn [ehs & oo Job 'foug:::il)rr" oS, TR =05
53¢ woy§ibn 0,(0,<<1)3 FIEio¥o Bobod SHOTK. Be&ySo, W5 BA% FSYSgos’
56¢ TrodE SoTosH S'Ean0d. t Hocho 5§ ) ReeIs deod : (sin(@)=a

2
o
$08051 cos(a')ﬁl—T T oHFH30, << 1 @méé@

Options : Q
%{: 2 ((UI )} o@&‘»

—mB{l -%sin2 (wr)} Q/v.

3 &@

—mB{l -

—-mB {1 - %} cos” (r)

X

—mBL —%g—}

Question Number : 112 Question Id : 7512365552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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An alternating emf source of 100 V at 50 Hz 1s connected to a circuit of resistance (10m) Q
and inductance of 0.173 H. What is the phase difference between current and emf

(10m) Qo JITES50 Hodasw 0.173 H o R083q)e0d) Sooirdd S0 Hz o 36 100 Ve
257088 D.T7).0.0 235°Q) JoFrdin FFH. IS PTHn bk J.o.0.0 ¢S
&3 BB doe?

Options :

00
1.

45°
£

30° O
) Q,\

60° &"
4. @
Question Number : 113 Question Id : 7512365553 Questio : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ve

A current I=1; sm(car - 5] flo AC circuit. if potential E = E;sin@r has been

applied. The power consump&grhe circuit will be

- ; : : T
AC D805 50058 FBA0HS E=Eysmar  ododgoday I1=1, sm(mr—;) Qg
RTTdn @HIToN0d. Sodhod” Fdy ADTLo Jeod

Options :
EOIO

V2

collegedunia
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Question Number : 114 Question Id : 7512365554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the intensity of sun light outside earth’s atmosphere is 1.4 kW/cm?, the corresponding
maximum electric field amplitude is. approximately (Assume o =471 * 10~ H/m)

ErTeSEmo nohb Srégsos BiSs 1.4 kW/szg-o:.@&’J wBobrd K0S DEgS B
Fois 90008 dend (1o = 4m<107 Him m okos o)

Options : «

1.4V/m Q,
1. 0

X 100 V/m Q/v
103
) 1 % 10° V/im &@

1 % 10° V/m

Question Number : 115 Question Id : 7512365555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A monochromatic source of radiation 1s operating at 100 W power. The source emits
2 x 10 photons per second. The wavelength of light will be (7 =6.67 * 107 s)

2.8 DESE D8Geo 2BESD 100 WrSsgso $¢ $0B:8008. 2880 DE% 2 x 107 erSodH
GTdo TKRobd. Fos ECorPYgEn deod (h=6.67 x 1074 T )

Options :
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300 nm

400 nm

600 nm

500 nm

Question Number : 116 Question Id : 7512365556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ahydrogen atom 1s in a state with energy —1.51 eV. Inthe Bol&odel. the angular momentum

of the electron in the atom with respect to an axis at th@us. is (i =1.05x107*] s)

"

&5, 56 SJrT S, HEErEHS'D

B30 I SNy wEo Sdorr

28 I ae 83y —1.51 eV 4§ Ho ¢
AOES B, Fedahd $HgIrH0 Do

[:—"E: 1.05 x 10"3415) Q,v
Options : &@

3.15 ¥ 107* kg.m’/s

1.59 x 107* kg.m?/s

6.99 x 107° kg.m?*/s

2.40 x 107* kg.m*/s

Question Number : 117 Question Id : 7512365557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Two radioactive materials X and X, have decay constants 104 and Arespectively. If mitially
they have the same number of nuclei. then the ratio of the number of nuclei of X, to that of
1

X, will be — after a tume
. e

Soth B&Irer Sergen X, $8cin X, © fansde Hrrostes S8Hdm 104 58w 4 e.
OGS T8 oo dopg JArS8, X, S SoEsre Jopgir X, &' Sols e Sopgdr

o I8 Jodsroo HTE — Y H?

1
, - O
| N
1 ‘v
T A
2 &
| O
11 @

Question Number : 118 Question Id : 7512365558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A potassium chloride crystal has an energy band gap of 6 eV. What wavelength of light for
which the crystal 1s completely transparent? (Assume he = 1242 eV-nm)

P ETP 00 §Ed§o éaéSééw dix;ézr g8 3@ @od83n 6¢eV. éaéﬁé:&w 2 5708 ééoﬁ@c&gf&g
Sosgrdor FEEHEHHE08? (he = 1242 eV-nm o oHTFE8050)

Options :
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i 211 nm

199 nm
2

185 nm
3,

163 nm
4.

Question Number : 119 Question Id : 7512365559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the circuit shown below. 1f V.=V, sin ot and the diode 1s ideal. the average value of
voltage across R; 1s (Assume source resistance is zero) q

808 Erdd Sechoes®, V.=V, sin ot 508050 é@l&cﬁ@;éoé@éga, R, D580 Ko

o0 SPE Dend (28E &G0 ErSgHd SiplQIN)
(%

QO
V. Q Q,v Ry

(&

Options :
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Question Number : 120 Question Id : 7512365560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement among the following.

8ol TES" JODS &8 MBotod.

Options :

AM detection 1s carried out using a rectifier and an envelope detector.
2.8 JEBE0H DoBokn w¥ sIES FEFR) ﬁédﬂs;\@ AM FE58% .

les (o, — o ) and (o, + _) only.
ating signal)

sargen (0~ ) Sodosn (0 +@_ Jen
TrE 0ok S8l We doseren

Amplitude modulated signal contains fre
(o, and w_ are frequencies of carrier and

S'od HONS JrdogDes ©oad So880
Sr@d wolron. (M Sodoiw o
FdPargen) @
High frequency signals c& not be transmitted to long distances.
058 FHDIY doTodh T droro S BFrdo TahTHw.

Long distance communication between two points on the Earth is achieved through
reflection of electromagnetic waves by Troposphere and Stratosphere.

S 2PS Dot DoBPe 065 B8 ErdY HodYSND, LD Bidm HOG T
sdberre So ETA Dglaa o8 dore JorSESSsn THo PHA.

Display Number Panel: Yes
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Group All Questions: No

Question Number : 121 Question Id : 7512365561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following orbitals have two angular and one radial nodes?

3d ; 4d : 5 : 3p

Bod shrdes® Bok §'Boh FFhew, ol TAaHS Fhen Hod I)?
3d ; 4d ; Sf ;. 3p

0
: IS
1 ‘v

2 &

Question Number : 122 Question Id : 7512@2 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the wavelength of an electronic transition in He™ is 23 nm. the wavelength corresponding
to same transition in hydrogen atom in nm 1s

He™ &* JogS 505858 23 nm o S60K3E g0 ©55850008, TE*RS H65r0He* of
D05ES 6K ©SDHEIw0S SSorgggsn 1 o’

Options :

92

46
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Question Number : 123 Question Id : 7512365563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in the correct order of 1onization enthalpies :
[1. Be. B.N. O

08 T8 RNIJBAS 0T B0 wod EHINS' vlgod

L1, Be. B.N, O
D

QO
Li<Be<B<O<N “I
™
Li<B<Be<O<N
> Q?'
Li<N<Be<O<B «0_)

Options :

Li<Be<B<N<O

Question Number : 124 Question Id : 7512365564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement from the following.

8ol THS” JBDS D38k HoBoTod.

Options :

gcollegeduniaa
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Oxides of the elements on the left of a period are basic.

28 ROONAS” ARNJIY BN Jorovw @%Ew 528 fosdn o).

Oxides of the elements on the right of a period are basic.

28 DO0HGS" BAIY BN Jrosw @3_@5&13 58 Hodn Bod.
2

Oxides of the elements on the left and right of a period are amphoteric.
28 H00DHAS” JAEDH DO BEIY ©J) Jrosto ¢Eoer BIETEE Kol

)
Seod.
=

Oxides of the elements on the left of a period @cldjc.
28 DOINES” AEHNIY &) Sorosto @&E 8 Hadn Fod.
4 - q

Question Number : 125 Question Id : 7512365565 Questio QCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ve

Which of the following represen@lost stable Lewis dot formula for .COE‘

9

§ob TES* COT & B8 B0 o rawr H§ o Fhyod Brdods I6?

Options :
p 17
i C o2 i)
)
1.
’ %
[ Q:g::o]
:_C_a:
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[ OC ++0) ]
10
2
! 2—
0:C::0
O
4

Question Number : 126 Question Id : 7512365566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (A) : PF_ has square pyramidal shape.
Statement (B) : BrF. is isostructural with PF_.

D
56 (A):  PF 3808 srorgsd esssngiYoiood.
D58 (B):  PF,&° BiF, ddodomod” @Qx &.

0@

The correct answer 1s é
5000 DEPTHH V'
Options : @

Statements (A) and (B) aéiot CoITect.
(A). (B) e 38 @ondd 5°9).

Statement (A) 1s correct: (B) 1s mcorrect.

(A) 36505&: (B) 96 wondd sd.
5

Statement (A) 1s not correct: (B) 1s correct.

(A) 58 ©®ondd 578 (B) $8 @ondd.
3
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Both statements are coirrect.

’ B0 DT D8BVAVND.

Question Number : 127 Question Id : 7512365567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A closed contamer has 1 Avogadro number of gaseous molecules at 27 °C and 1 atm pressure.
The pressure of the same gas at 72 °C in atm 1S

27 °C %o0cin 1 atm 2880 5¢ 1 oSm@ Sopg fo cin wmoden o Sarded)
FES* GTow. ©8 Fasnd 72 °C 5¢ wEss0 atm o

Options :

2.30
1.

0.87

Question Number : 128 Question Id : 7512365568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the kinetic energy (in ergs) of the nitrogen molecule at —73 °C?

E*2S o K828 (erg 0s*) —73 °C 5& Jod?

Options :

4.14 x 10714
1.

3.0x 107"
2.
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4.14 x 10™

3.0 x 10™

Question Number : 129 Question Id : 7512365569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the coefficients v, y, z, p, ¢,  and s respectively in the following balanced equation?

xHNO, +KMnO, _ +:H,S0, , —pHNO,  +¢K,SO,  +MnSO,  +sH,0,

Bod Hogo RoD2ES Do88adnS® X, ¥, 2, p, g, ¥ 085D 5 Hsen SEHIMT ID?
yHN Oz(w)+ yKMnO eyt zH,SO )y pI—INOS( o q@ oy rMnSO o) sH,O &)

Options : W

&S
2
[ —
th
)
2
th

Question Number : 130 Question Id : 7512365570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Molality (m) of 18 M H,SO, is. approximately
[d=1.84 g cm™. Molar mass of H,SO, =98 g mol™]

18 M H,SO, 30erd8 (m) Sodrdor
[d=1.84 gem™. H,S0, 378 $S5078 =98 gmol ']

collegedunia
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Options :

36

1.8

18

237

Question Number : 131 Question Id : 7512365571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When 0.8 g of glucose. C H,,O,. was burnt in a bomb calm@n according to the following
equation. the temperature raise 1s found to be 2 K at 1@.

If the heat capacity of the bomb calorimeter 1s @ K. the approximate enthalpy change
of the reaction in kJ mol™ is

(Molar mass of glucose = 180 g mol™) @

0.8 giirs’E, CH,, 0.0 2.8 o @5313&35&‘3" &S50 Bk, §od dWédo Ps o,
] atm 5 &PESS® mmmq& ™ K808ER088.

CGHQO“&,) = 602(0,) —— GCOZ(J.) + GHEO(@')

850068 D3R5 6.8KTK ™ o, D 58550 Jo5rdyS* Sy kI mol™ o6 dodrdom
(Kr8'E wmogrdo = 180 g mol™)

Options :
2 x10°
i
-1 x 10°
2 g
6B %X I
-
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A %
4,

Question Number : 132 Question Id : 7512365572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the following reaction

4NH;(,) + 50, =—=—4NO(, + 6H,0 4,

If two moles each of NH, and O, are allowed to react and equilibrium is attained after 50%
of the O, has reacted. what is the value of equilibrium constant (K .)?

§oB $EgSy KSoDoWos.

3 0,388 2 molen FEgS* S, 50% 02:5{‘9'\:6 SHTE RS VEYEIZB,
SHER8 Jorossn (Kp) deod Jod? A

., ¥ Q/V‘
2B %6 &O_)

56
4
2° % 6°
54
=
2° %6
56
4.

Question Number : 133 Question Id : 7512365573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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It the pH of a solution containing 10 mL 0of 0.5 M CH,COOH and 10 mL 0 0.25 M NaOH
1s 5. What is the pK, of the acid?

10 mL 0.5 M CH,;COOH. 10 mL 0.25 M NaOH &) o @ d@=0 pH 5 @ond
e300 pKaDueﬁ'?

Options :

0.25

5 O
q,Q’\
25 A,
a Q,
O

Question Number : 134 Question Id : 7512365574 Questi
Single Line Question Option : No Option Orientation : v

: MCQ Option Shuffling : Yes Display Question Number : Yes

How many moles of O, 1s evolvedw one mole of .Mn(); is reduced to Mn>* by H,0,

in acid medium? ‘@

s55r$E0S* wé 376 MnO;, H)0,8 Mn*' m §o5ésno Sodhbes® 26188 0,3rS0

260335 DOE?

Options :

L3
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Question Number : 135 Question Id : 7512365575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the 1ons which form hydrated chlorides from the following :

Bob TES' &Y §BELH T ecsrgH KH5oSos.

a) Ba® b If o B dil &5
e) Mg”™ f) Rb" g) Ca*

A

.bd.g C’é’&
2 $
3rf:f..& Q/

b.e g &@

Question Number : 136 Question Id : 7512365576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the reaction in which an adduct 1s formed?

o Wy S080S™Q) Ddgé)@ﬂoﬁ"‘ 8o Bodk?

Options :

B,H, + CO——

gcollegeduniaa
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Na,B,0, + HC1—22

A
BF, + LiAIH, ——
24
H,BO, + H,0——
4.

Question Number : 137 Question Id : 7512365577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Formic acid reacts with concentrated H,SO, at 100 °C to liberate A. When A 1s passed over
heated ferric oxide. B and C are formed. What are A. B 316 respectively?

N

100 °C 3¢ &85 esdodw mg H,SO, & zﬁégﬁ“ot{& DB BN, ISWIS P
68 oD A Sobsiyd Booin C oo dhidaran. A, B, C oo S5 D27

Options :

CO. Fe. CO, é’

1. Q/v.
CO,. Fe. CO

N &2
CO. Fe. H,0

3. i
CO, FeO. CO

4

Question Number : 138 Question Id : 7512365578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In the following sequence of reactions, the gaseous species A. B. D. E respectively are

§od BorgEndnds” A, B. D, E o050 arden S835m

[(g)—=(=)]

CEClg— A + By,

Jm

D+0,4

0),

O
Q’\
E+0O,q ‘\I

Options :

&
€rCL €. ¢, ¢ é}
v-

:
@i, 0., 0. & '@
2.
oL E. B, 74
20
él, ¢Rel,. 0o, o
4.

Question Number : 139 Question Id : 7512365579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The TUPAC name of the following compound 1s

808 330y¥50 TUPAC 0

NO

d

C,H,

[ )

CH,

Options :
3 - ethyl - 4 - methylnitrobenzene

N3
3- 985 - 4- S JE'DoES ‘]9

&
2 - ethyl - 1 - methyl - 4 - nitrobenzeneo

2- 236 - 1-233@5-4-;_@5'%0@

z- ¥
3 -ethyl - 4 - methyl - 1 - enzene
3- 235 - 4- 236 - 1 - JE*BoES

1 - ethyl - 2 - methyl - 5 - nitrobenzene
- 23S - 2 - 0BS - 5 - JWBoEI

Question Number : 140 Question Id : 7512365580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which of the following the C — H bond distance 1s longest?

8od o8eS* BIS® C—H 208 Sr850 vdgod FEI5H?

Options :

C,H,Br,

Question Number : 141 Question Id : 7512365581 Question Type
Single Line Question Option : No Option Orientation : Vertical

:9

@phﬂﬂ Shuffling : Yes Display Question Number : Yes

Find the hybridization of carbons 1 an@spectwely in the below compound?

o JF0WS0S* RS 1 Kb

© H08b888mdnen &I

2
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sp” . Sp
sp . sp

Question Number : 142 Question Id : 7512365582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A compound 1s formed by atoms ‘A’ and ‘B’. B atoms form ccp arrangement. If A occupy

3 of tetrahedral voids. what 1s the formula of the compound?

A . B 3850 2.8 éﬁo&e}’éo bdﬁé‘ué‘ B 383wy oo cep Srdoym ﬁdgéo@w. A
1
3

Sro@er Jogrod sEoddLons, éﬁxséﬁéu@@ 67

Options : &

A;B, 0“’

. A,B, Q,$
9

2.
| A
A,B,

.
AB

4,

Question Number : 143 Question Id : 7512365583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A solution contains 5 moles of X and 5 moles of Y and has a normal boiling point of 90 °C.

The vapor pressure of pure X is 300 mm Hg. What 1s the vapor pressure of pure Y at this
temperature?

53 XHo8dkn Sarde Yo (7hec rda o8 eifid 90 °C. 08 Xerdyatso
300 mm Hg, &8 & 5§ 08 Y erdyoddo Jod?

Options :

1220 atm

1220 Torr

1220 N/m’

O
3_ )
A
) 1220 bar OQ,
NI

Question Number : 144 Question Id : 7512365584 Q ?ype : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati@ ical

Consider the following equilibg 1 benzoic acid i benzene

2CH;COOH—=(C4H;COOH),

If “x” represents the degree of association of the solute then relationship between total
number of moles of particles at equilibrium and van’t Hoff factor (7) 1s

FoF0ns Wio ToEIGT" Fol JHeRER HdoJoTod
2CsH;COOH—=(C4H;COOH),

X @38 @IS0 SFUE ©IE oNIHWIB IHTRE & ndo Swro Irdo Sopgso
ToBFQ Ko A8 (1) gy Sowodo

Options :
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2
1,
]l —x=i
2.
X
l—=1
2
3.
2x=1
4.

Question Number : 145 Question Id : 7512365585 Question Type : MCQ Opﬁnﬂ%g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2(g)
0.1 M KCl aqueous solution. Solubility product %s 1.8+107'% and F = 96500 C mol ™.
h

When a current of 10 pA 1s passed. calcula (’
observe the AgCl precipitation in the gal cell.

Consider the electrochemical reaction between %ﬂ d Cl,, , electrodes in 1 litre of
Inimum time in seconds (s) required to
1 98 0.1 M KC(l zomdeos® 23%80‘533 CLyoire Doy Ddogd Srassd S8g
$H03do0d. AgCl @‘5’35‘5053@3‘”& 1.8%107"9 58050 F=96500 C mol™. 10 pA D&

Hobe008 AgCl o3850 medE HHZNS* IGBErs Hiy 838 Todn DEGS® (5)
8§ odod.
Options :

10

346

174

17.4
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Question Number : 146 Question Id : 7512365586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

 For a first order reaction (A—> P) the rate constant is 5 » 10~ min~ when the initial

concentration of A=2 x 10~ M. If the initial concentration of A is doubled. what will be
the rate constant (in min™) at the same temperature?

A @0z mgS 2 x 107 M erdiiydd 3oss giros 385 (A——P) dew Horoko

5% 107 min™. A@dos i Bio sonidyds ¢B ¢S 5§ 3 joroko (min o)

D0Es?

Options :
1 x 1072
1.
2.5%.107 @
: Q
5% 1073 &q,
: 0“’
] %367 é

4. @i
Question Number : 147 Question Id : 751 %uesﬁnn Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienation : Vertical
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. Match the following :

List-1 List-1I
Type of Colloid Phase in medium
A) Aerosol I) Solid in solid
B) Emulsion II) Liqudinsolid
C) Foam ) Gasinliqud
D) Gel IV) Solid in gas
V) Liquid in liquid

8oB T 2SBGIIW.

ardae -1 e - 11

Serond &80 o&r@é“ 25D
A dons>S I) s}mgo@* 08580
B) addvos %«‘Sa’awgoeﬁ" (SEFelayels
) B8 @ BESTYos* Tos0dTEo
D) =6 é’m TGOSt PFITGo

V) @8smgost $Ssmgo
The correct answer 1s '@

“&B@o:ﬁ 2353720

Options :

A @ © @O

i I\Y V I I

@ @ © @O
I II I I\Y

@ @ © (D

1 E
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A @ (© (D)
I V I \%

Question Number : 148 Question Id : 7512365588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the auto reduction reactions from the following’

g0 TES” Jgodoo Fodsde Wdgod Kofowod

a) Fe,0,+4CO—»3Fe+4CO,

by Cu, 0+ —i—Cllzs—aSC u+ lSO2

— —

. N
¢) 2PbS+PbO——3Pb+S0, ‘]9

d) LC1120+C—>2C11+C0 é
X &
b.c Q,v

2 @
a.d &

3,
b.d

4,

Question Number : 149 Question Id : 7512365589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the precursor which is diluted to make H,SO,?

& FETa A0S0 B H,S0, Soirdodyd?

Options :

gcollegeduniaa
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s

1.
H?.SEOS
2.
H,5,0,
8
SO,
4,

Question Number : 150 Question Id : 7512365590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following oxoacids of chlorine in their de@smg acidic character.

808 50 sfuldrod T8 sds Qﬁg&}*f)éhé&é)&@‘ A GS0b.

Options :

HCIO, > HCIO, > HOC1 > HCIO, é

1

HClO, > HCIO, > HCIO, >£@

2

HOC1 > HCIO, > HCIO, > HCIO,

HCIO, > HOC1 > HCIO, > HCIO,

Question Number : 151 Question Id : 7512365591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct sequence of paramagnetic property of the metal ions 1s

ST OBrew JTCRF 08 FTo V0 Lo EhDw

gcollegeduniaa
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MnZ* > Crt > VH > Cu?t

M >V =0 o0

Mn** > Cr** > Cu®™ >V*

>V sortt> Mt

Question Number : 152 Question Id : 7512365592 Question Type : MCQ Option
Single Line Question Option : No Option Orientation : Vertical

How many different compounds are possible fo
assuming octahedral geometry for the Cobalt—@

g‘e:ﬁg éoﬁ&é oSS0 @Q$v§ e85YS

36 3 sdnFres @Cﬁgf}:@@’r;%v

Options :
One
2.8&3

1.

Two
Bo

2

Three
AT

3.

Four
I
4.

&

K@g : Yes Display Question Number : Yes
f& formula. K, [Co(oxalate),CL]

ex ion?

§Q ‘K3 [Co(oxalate)zClz] FENT S’ IQ)
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Question Number : 153 Question Id : 7512365593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomer is used to prepare Neoprene?

808 TES® IRBr@IH SASTrHBSNLE GIBrhod IrTTHE A6?

o
z. 9
P
)\/\ é}
- &
A &

Question Number : 154 Question Id : 7512365594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- Which one of the following is Nucleic acid chain?

Bod T8S" SorgSans sy Hopwo I&?

Options :

gcollegeduniaa
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BTse
fSugar —Phosphate 4,
stdo

|
F$535.86 —3"'?0(‘)&5 ¥

F Sugar — Phosphate — Base 1,
£ NSRS -é)fﬁcao)éf —-gdol

2.

fPhosphate — Sugar — Base 1, O

| oty -ugs-dod, Q’\
. &‘\/

- Sugar Q/

e Il’hosphate —Base 4, é’

588 Q/v

[ @*Lges— s60} &O_)

4

Question Number : 155 Question Id : 7512365595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the suitable structure for antibiotic chloramphenicol from the following?

Bod TES* FoBNDIT'S odndd dirotnd@rdl Gy, oGS o ednds HioKod?

Options :
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HN s
14
O

1.

OH OH

HN CHZCI
g
O

3

Question Number : 156 Question Id : 7512365596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the relation among the rates of following nucleophilic substitution reactions?

Bob Sorg8RBrHO8 (&8I HPge DL Sowodo HBoHos?

I NH, Cl
NaNH, 'NﬁN&L

NO, NO,

NH,
NaNH, @ NaNH-,-.
&) ’\

Question Number : 157 Question Id : 7512365597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The product (R) of the following reaction sequence is

8o FTrgERmns' adHsn (R) 28?

O

é Na CH,l

CH,MgBr H.0/I > (P) > (Q)

(R)

b

Options :

~
e
o ¥
éomg

Question Number : 158 Question Id : 7512365598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia

—



What are X and Y respectively in the following reactions?

Bod $goes® XY eo S8 22

, @
CrO,Cl, /CS, H,0
PR s %
Toluene > Benzaldehyde
(¢5°0S) : B (Bozrd k)
C10; /(CH,C0),0 % H,0 /A
283 K :

Options : W:

CGHCH[OCI(OH),Cl] . C.H c@oocﬁﬂ2
% é’

rCﬁHsC[OCr(OH ),Cl]. @HsCH(COCm %
2 &@

'C6HSCH[0C1~(0H)CIZ]2 . C¢H,CH(OCOCH,),

OCOCH,

' ~
C6H5CH|:OC1'(OH)_,‘]2 . CﬁHﬁCH\COCH
3

Question Number : 159 Question Id : 7512365599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (a) . Carboxylic acids with C_ ; and above are insoluble in water.
Statement (b) : Ethanoic acid i1s having less boiling point than propan-1-ol.

D58en (a): C,p00c5n 2 507808 sdren 8BS 85I
Q8= (b) : 2PSTonE eHH0 B, IS TR0 S-S 508 850

The correct answer 1s

HOGS HEFTHE0

Options :

Both (a) and (b) are correct.
(a) S08a50 (b) eo H6SZo8.

Both (a) and (b) are not correct.

(a) (b) Q‘/&
) 83D 20 VOV B°Y).
XS

(a) 1s correct but (b) 1s not cm@v.
(a) 565058 52 (b) éa*
3

(a) 1s not correct but (b) 1s correct.
(a) S8G0IG 57°¢0 57 (b) S6Tosk.

Question Number : 160 Question Id : 7512365600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following compounds in increasing order of their base strength.

Bod SJWTrod o8 F6 wwo DR EHod® esd)od.

NH,
(CH,-CH,),NH  CH,-NH, O/ NH,
a b C d
Options :
c<d<b<a

O
N,
c<b<d<a WQ

a<c<b<d C)Q‘}
»
a<b<c<d Q/

1 E
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